[D:9:9:9:0:9.9:9:0.9:9:9.9:9.0.0:9.9:9.0.0.0.9.9.9.0.0:0.9.9.0.0.0.9.9.9.0.0:0.9.9.0.0.0.:0.9:9.0.0:0.9.9.0.0.0:0.9.9.0.0.:0.9.9.0.0.0:0.9.9.0.0.:0.9.9.0.0.0.:0.9.9.0.0.:0.9.9.0.0.0:0.9.0.0.0:0.0.9.0.0.0:0:9.9.0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXXKKXXKXKXXKKXLKK XK KK KKK KKK KKK KKK KK KKKKKKKKMSE /1-6400305-00001XX
TrigonometryExercise5 for No.9124

M
2 3 a
A= arcSin[— TJ 2=arcCos(l) 3= arcTan(gJ ¢
h
3 3
Nol =| 4= arcCos[— £j 5= arcCos[LJ 6= arcTan(ﬂ/?) , .| @
2 2 M
2
.7 =arcSin(0) 8= arcCos(«/E) 9= arcSin[Tj (7{
L J M
1 3 3 1 [M]
A= Sin[arcSin[ED 2= Tan[arcSin[%D 3= Sin(arcCos[gj] a
b I !
.4 =Cos( arcTan(—v\/; )) = arcTan(Tan(— ED 6= arcCos( Sin(?jj h
No2 = 137 4n 117 | @
.7 = arcSin| Sin| — .8 =arcCos| Cos| — .9 =arcTan| Tan| — M
3 6 U
)2 (13 . (-1 T
.10 = Cot| arcCos| —7 .11 = Sec| arcCos| Sin p .12 = ArcSin| Cos| ArcSin| E )
]
[ 5 2 AN a
A= Cos[arcTan[gD 2= Csc[arcSin[gD 3= Sec[arcTan[?D P
. 5 -1 (s h
No3 =| .4 = Sin| arcCos ; .5 = Tan| arcCos g .6 = Cos| arcSin| T , | @
M
-5 5 5
= Tan[arcSin(—D 8= Sin[arcTan[in 9= Cot[arcCos(— £D u
L 7 4 7 ))] T
L / .
Fur]
i ) 1 (3 2 (-1 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 7 7 2
1 3 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| = , .| @
2 7
M
. 177 ) 177 ) 7n
.5 =arcTan| Cos(10 7) + Sin| — T .6 = Cot| arcCos| Sin| — + arcSin| Cos T U
L - T
L -/ .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9197

J2 1
.1 = arcCos| —T 2= arcTan(«/;) .3 =arcCos 5

Sezer %

Nol = -1 1/5- >
.4 = arcSin ; .5 = arcSin| T .6 =arcSin(0)
.7 =arcCos(-1) .8=arcCos(-2) .9=arcTan(0)
_ 3 _ C ]
.1 =Tan(arcTan(1)) .2 =Sin(arcTan(-1)) .3 =Cos| arcTan| — T a
1 t
. | . T
4= Tan(arcCos(—D S= arcSm(SmL—D 6= arcSm(Cos(—j h
No2 = 2 4 4 @
B 13n 27 13 1t > 5
7= arcSin(Sin[— —jJ 8= arcCos(Cos(— I j 9= arcTan(Tan(— j M
6 3 6 U
ﬁ (5w . . «/E T
.10 = Cot| arcCos| T .11 = Csc| arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin 7 )
]
(-1 s 7 a
.1 = Sec| arcSin| ; .2 = Cos| arcSin| —T .3 = Cot| arcTan 5 t
[ h
) 7 -1 (4
No3=| 4= Sln[arcCos[— —D S= Tan(arcCos(—jj 6= Tan(arcSln[—jJ , .| @
10 5 5 M
. ﬁ 5 U
.7 = Sin| arcTan ? .8 = Csc| arcCos| g .9 =Cos(arcTan(-1)) T
L i M
C ]
i ) 1 (-1 3 (2 a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 2 7 5
3 1 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| ~ , .| @
4 2
M
. (7n . 137
.5 =arcTan(Cos(3 ) + Sin(5w)) .6=Cot| arcCos| Sin ? + arcSin| Cos 3 U
L g T
., .

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQE NORE
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TrigonometryExercise5 for No.9252

X

]
3 (42 . a
.1 = arcTan| T .2 = arcSin| — 7 .3 =arcSin(0) ¢
1 h
Nol =| 4= arcCos{;j 5=arcCos(1) 6= arcTan(—«\/?) , .| @
M
2 3
= arcCos[Lj .8 =arcSin(-7) 9= arcSin[Lj U
L 2 2 )] T
L/
I 1 1 [ M ]
A= Sln(arcSm[;D 2= Tan(arcSin[EjJ .3 = Sin( arcTan(—v\/; )) u
(A2 n (n t
.4 = Cos| arcSin| —— .5 =arcCos| Cos| — .6 = arcCos| Sin| — h
No2 — 2 6 4 @
B 11x 2n 5w ’
7= arcSin(Sin D 8= arcCos(Cos( —D 9= arcTan(Tan( —jj M
6 3 U
(43 . . /2 T
.10 = Cot| arcSin T .11 = Tan| arcCos| Sin| — .12 = ArcSin| Cos| ArcSin| T ,
_ M_
I 7 2 3 Y] a
A= Sec(arcTan[@D 2= Cos(arcSm[—%D 3= Sin(arcCos[%D t
1 3 h
No3=| 4= Cot[arcSin[ng .5 =Cos(arcTan(1)) 6= Tan(arcCos[gD . | @
M
(-2 4 ) -2 U
.7 = Tan| arcSin| — .8 = Csc| arcCos| — .9 =Sin| arcTan| —
L 7 9 3)) ] T
L/ ]
Far]
[ , 1 (4 2 (-1 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| = | + arcSin| — ¢
2 7 7 3
5 5 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcCos| ~ , .| @
8 6
M
T . 11n . 177 ) 137
.5 =arcTan| Cos z + Sin| - —— .6 = Sec| arcCos| Sin| — + arcSin| Cos| 3 U
L g T
L ! -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.9312

M
2 3 a
A= arcSin[gj .2=arcTan(1) 3= arcCos(éJ ¢
/2 !
Nol=| 4=arcCos(1) .5= arcSin(— T] 6=arcSin(3) | .| @
M
3 3
.7=arcSin(0) .8= arcTan[— £] 9= arcCos[— LJ U
L 3 2 /] T
L/
[ o (1 | ‘ 0 M ]
.1 = Sin| arcSin 5 .2="Cos arcSm 5 .3 = Sin| arcCos| —T a
1 b T !
.4 =Tan| arcCos| ~ .5 =arcTan| Tan| — .6 = arcCos| Sin| —— h
2 6
NO2 = > B @
S5n b S5n
7= arcSin(Sin[— —D 8= arcCos(Cos( —D 9= arcTan(Tan(—D M
6 4 6 U
e (13x . (43 r
.10 = Csc| arcSin| — 7 .11 = Cot| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin T ,
]
1 2 5 a
A= Tan(arcSin(ED 2= Csc[arcCos(— {D 3= Cos(arcSln[[]J ¢
4 4 h
No3=| 4= Sec(arcTan(;D 5= Sin[arcCo (g j 6= Sin[arcTa [ D , | @
I Is v
7= Cot[arcSl (—D 8= Cos(arcTan(— ] 9= Tan[arcCo [ D u
2 5 T
L/ ]
]
i ) 5 (-4 1 (2 a
.1 = Sin| arcCos| — |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
9 5 5 3
1 5 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , L @
6 8
M
. . Tn . 8
.S =arcTan(Cos(3 n) + Sin(w)) .6= Csc[arcCos[Sm[— ?D + arcSln[Cos(TjD U
L . T
/

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b}

NQE NQE
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TrigonometryExercise5 for No.9397

C ]
_ e ;
1 =arcCos(-1) .2 =arcSin(0) .3 = arcSin ; '
5 h
Nol =| 4= arcCos(T] .5 =arcSin(2) .6=arcTan(l) || .| @
M
3 3
7= arcTan(— £J = arcCos[ ] 9= arcSin[LJ u
L 3 2 /] T
L -/ -
_ 3 _ Far]
= cos[arcCos[— gjj 2= Tan(arcCos[gj] .3 = Cos( arcTan(«/?)) a
, 2 5n (= !
.4 = Sin| arcCos| —— .5 =arcCos| Cos| —/— .6 = arcCos| Sin| — h
No2 = 2 6 3 > s @
o (1= Sn
.7 =arcSin| Sin| —— .8 =arcCos| Cos| ——— .9 =arcTan| Tan| —— M
6 6 6 U
. 137 ) 1 T
.10 = Csc( arcTan(—«\/;)) .11 = Cot| arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos| 5 ,
- M_
(5 . 2 -3 a
.1 = Cot| arcSin| ; .2 = Sin| arcCos| ——— P .3 = Sec| arcCos ; ¢
h
(5 5 5
No3 =| .4 = Tan| arcSin| —— .5 =Tan| arcCos| — .6 = Csc| arcTan| — s ,| @
9 9 «/2_ M
7 1 2
7= Sin(arcTan(—D 8= Cos(arcSin(—D 9= Cos(arcTan(—D v
L 5 5 7 )J] T
L / .
"
i ) 5 (2 1 (2 | a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ |+ arcSin| — ¢
7 5 2 5
1 2 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| ~ , | @
4 3
M
. 3n . I1n . 107
.5 =arcTan| Cos(7) + Sin —T .6 = Cot| arcCos| Sin| — p + arcSin| Cos 3 U
- A T
L/
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9449

C ]
a
-1 2
A= arcCos(;j 2= arcTan(«/? ) 3= arcSin(g] ;l
Nol = 2 1 > s
4= arcSin[— Lj S =arcCos(1) 6= arcCos(—J %
2 2
.7 =arcSin(-1) .8=arcTan(-1) .9= arcSin(«/E) Ly{
./ i

. (1 (A2
.1 = Sin| arcSin| E .2 = Tan| arcSin| —2 .3=Cos arcSln
A2 I 37
.4 =Sin| arcCos| ——— .5 =arcCos| Cos| — .6 = arcSin| Cos|
2
No2 = 7
i
7= arcSin(Sin[— ?D 8= arcCos(Cos( jJ 9= arcTan(Tan(—

6
cofse 5]} - e s 3
.]O:Csc(arcTan(«/;)) .11 = Sec| arcCos| Sin| .12 = ArcSin| Cos| ArcSin| T

SN U
N—
]
1
]

3

a

N——

Ne—
~NcE®=~s %

N—
L
T

5 5 )
1= Tan[arcCos(gD 2= Sec(arcCosEzD .3 = Sin(arcTan( «/g ))
No3 =| 4= Cot[arcTan[iD 5= Cos[arcSin[TD 6= Csc[arcSin(?D

7= Cos[arcTan[%D 8= Tan[arcSm(gD 9= Sin[arcCos(— @D

[\

~~NQX®s=-~28 K

T
L

M
[ . 2 (1 1 (-4 a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| — | + arcSin| — ¢
5 2 2 9
3 1 h
No4 = 3= Sin(2 arcCos(—D 4= cos[2 arcCos[—D , .| @
7 4 M
vk Iln 13n 13n
5= arcTan(Cos(—j + Sin(— D 6= Sec(arcCos(Sin(— jj + arcSin(Cos[ Dj U
L 2 2 6 3 i T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9562

o7a
3 a
1 =arcSin(0) .2 =arcTan| T .3 =arcCos(-1) ¢
/2 !
Nol =| 4=arcTan(-1) .5 = arcSin| [T] .6=arcSin(2) |, | @
M
3 3 1
7= arcCos[Lj = arcCos[ Lj = arcSm[ J U
L 2 2 2/ T
(. -/ -
[ 3 3 . 1 M
.1 =cos| arcCos| ———— .2 =Tan| arcCos| —— .3 = Sin| arcCos| —
2 2 2 a
J2 n t
.4 = Cos| arcSin| T .5 = arcSin| Sin| g .6 = arcSin| Cos| T h
NOZ = > B @
) (17= 8 e
.7 = arcSin| Sin .8 =arcCos| Cos| — .9 =arcTan| Tan| — M
6 6 U
J2 . J2 T
.10 = Csc| arcCos —T Al = Csc arcCos| Sin ? .12 = ArcCos| Sin| ArcCos| T ,

- Cos[arcsm@ﬁ 2= Tantarccos(_ 1£D 3= Cos[arcTan ?2)) ;

No3 =| .4=Sin(arcTan(2)) 5= Tan(arcSin( [ ]

6= Csc(arcSin[—]
9
-1 )
7= Sec(arcCos[;D 8= Sln[arcCos(

VR

-

w

)
) scofaeral L]

=N o v
~N QKOs > K —

M
i ) 1 (-4 4 (2 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ |+ arcSin| ~ ¢
2 5 5 3
I 1 h
No4 = 3= Sin[Z arcSin(—D 4= 005(2 arcSin[—D , | @
4 2
M
[ 19x . 137 . Sn
S= arcTan[Cos(6 )+ Sm( 5 D 6= Sec(arcCos[Sm(— p D + arcSm(Cos(TjD U
- - T
L/
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T

X [Page = 0007] XXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXKKXXKXXKXKKX KKK KK KKK KKK KK KKK KKK KK XKX KKK KX KKK KK KKK KKK KK KKXKKKK




):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXKXXKXXKXXKXKXXKXKXXKKXXKXKXXKKXLKKKKXK KL KK KKK KKK KK KX KKKKKKKKMSE /1-6400305-00008%XX
TrigonometryExercise5 for No.9721

3
A= arcCos(— TJ .2=arcTan(1) .3 =arcSin(-1)
Nol =| .4=arcCos(3) .S =arcTan(0) .6 =arcCos(1)

-1 3 2
7= arcSin(;] 8= arcCos(gj 9= arcSin[gj

> s

w|§“\ﬂ@§®§“a 3:

w

_ ﬁ «/_ | - Far]
.1 = cos| arcCos| —T .2 =Tan| arcCos _T .3 = Sin| arcTan| — a
/2 !
. T ) n
4= Cos(arcSm(TD S= arcTan[Tan[ ZD 6= arcSm(Cos(?D h
No2 = , | @
S5n 47 17w
7= arcSin(Sin(—jJ 8= arcCos(Cos[—jJ 9= arcTan(Tan(— D M
6 3 6 U
11z 3
.10 = Sec( arcTan(—«\/?)) Al = Sec(arcSin(Cos( 3 Dj 2= ArcSin(Cos(ArcSin(%]D ]/w
]
o A7 . 5 3 a
.1 =Tan| arcSin —? .2 = Sin| arcCos| — — p .3 =Tan| arcCos| — 4 ¢
3 2 3 h
No3=| 4= Sec[arcTan[—D 5= Cot(arcCos[—D 6= Cos[arcSin[—D , .| @
5 7 8 M
1 3 J3
7= Csc(arcSin(—D 8= Cos(arcTan(—D 9= Sin(arcTan(— —D u
4 5 i T
L/ ]
]
[ . 5 (-1 1 (5 ] a
.1 = Sin| arcCos| — |+ arcSin| .2 =Cos| arcCos| — | + arcSin| = ¢
9 2 2 7
5 1 h
No4 = 3= Sin[2 arcSin[—D 4= 005[2 arcCos[—D , .| @
7 2
M
. . 5w . Sn
S =arcTan(Cos(3 n) + Sin(3n)) .6= Cot[arcCos(Sm[— _6 D + arcSm(Cos(—3 jD U
L T
! ]

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

E)

No T NCOKX
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TrigonometryExercise5 for No.9789

X

C ]
1 3 a
A= arcCos(Ej 2= arcSin(%J .3 =arcCos(-1) ¢
I3 B h
Nol =| 4= arcSin[— —] 5= arcCos(—J .6=arcTan(-1) || ,| @
2 2 M
4 3 U
.7 =arcSin(0) .8 =arcCos(-3) .9=arcTan| T T
L i M
I 2 2 1 [ M]
A= Sin[arcSin[— g]) 2= Tan[arcCos(— g}j .3 =Cos( arcTan(—v\/;)) a
. Sn ) T !
.4 =Sin(arcTan(-1)) .5 = arcCos| Cos ? .6 = arcCos| Sin —Z h
No2 = 131 n 117 | @
.7 =arcSin| Sin| - —— .8 =arcCos| Cos| —— .9 = arcTan| Tan| M
6 6 6 U
4/3 (7= . (-1 T
.10 = Csc| arcCos T .11 = Tan| arcCos| Sin ? .12 = ArcSin| Cos| ArcSin| E )
]
3 7 7 a
A= Cos(arcTan(—D 2= Sin(arcTan[LD 3= Tan(arcSin(LD ¢
4 4 12
-1 1 1 h
No3=| .4= Cos(arcSin[—D 5= Sec(arcTan[—D 6= Tan[arcCos(—D , .| @
5 3 3
2 A2 3 M
= Cot[arcSin[—D 8= Sin[arcCos(—D 9= Csc[arcCos[—D u
L 7 3 7)) ] T
L -/ .
C ]
[ ) 1 (1 1 (5 a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
6 2 2 7
1 5 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| = , .| @
2 7
M
. Tn (17= . 2n
.5 =arcTan| Cos(7 7) + Sin| — 7 .6 = Sec| arcCos| Sin| p + arcSin| Cos —T U
L - T
L/ ]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9795

3= arcTan(«/;)

6 = arcSin| ——
2

.9 =arcTan(-1)

3
I =arcSin(-1) 2= arcCos[LJ

Nol =

2
-1
.4 =arcCos(0) S= arcCos{;J .

7= arcSin(«/g) 8= arcSin[— @]

~NQX®=~2 X

I 3 3 3 1 [M]
A= Sin[arcSin[— g]} 2= Cos[arcSin(%D 3= Sin[arcTan[%D a
(1 I . T !
.4 =Tan| arcSin| ~ .5 =arcCos| Cos| — .6 = arcSin| Cos| — h
Nod = 2 4 6 @
B 5n 5n 1ln P
7= arcSin[Sin(—D 8= arcCos(Cos(— J 9= arcTan(Tan( D M
6 3 6 U
. n . (A2 T
0= Cot(arcTan(«/;)) .11 = Tan| arcSin| Cos —; .12 = ArcSin| Cos| ArcSin| T ,
]
. A5 5 5 a
.1 = Sin| arcTan| T .2 = Cos| arcTan| 7 .3 =Csc| arcCos E ¢
h
7 5 3
No3=| 4= Sec[arcSin(LD S= Cot(arcTan(—D 6= Sin[arcCos(LD , | @
11 2 8 M
(2 (3 4 U
.7 =Tan| arcSin| — .8 = Cos| arcSin| ~ .9 = Tan| arcCos| =
L 3 5 7)) ] T
L/ ]
Far]
i ) 4 (-4 1 (5 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 = Cos| arcCos| ~ | + arcSin| = ¢
5 9 2 7
1 2 h
Nod = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| = , .| @
2 5
M
. S5n X Tm ) T
S= arcTan[Cos(8 )+ Sln[— TD 6= Cot(arcCos[Sm(— ?D + arcSm[Cos[— EJD U
L - T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.9839

2
A =arcTan(1) .2= arcSin(TJ .3 =arcSin(1)

1
Nol =|.4=arcCos(-1) .5= arcCos[E] .6 =arcCos(-2)

-1 5
7= arcSin[;j 8= arcTan(—«\/g ) 9= arcCos[— g}

\~1QE®®~Q§:

I 3 3 2 1 M
= Sin[arcSin[— gjj 2= Sin[arcTan[%D 3= Tan[arcSin[— g}j a
1 t
. T (m
4= Cos{arcSm(ED S= arcTan[Tan(— Z J 6= arcCosESm(ZD h
N02 = > 5 @
[ .. (5m 3n 137
.7 =arcSin| Sin| — .8 =arcCos| Cos| ——— .9 =arcTan| Tan| — M
6 4 6 U
. 13n ) (-1 T
.10 = Csc( arcTan(—«/;)) .11 =Cot| arcCos| Sin| — T .12 = ArcSin| Cos| ArcSin| ; .
]
5 3 a
A= Tan(arcSin(;D .2 =Csc( arcTan(«/g)) 3= Tan(arcCos[— %D ¢
h
-2 2 -7
No3=| 4= Cos[arcSin(—D 5= Sec[arcSin(— LD 6= Cos(arcTan(—D , .| @
3 7 2 M
) 7 5 ) -5 U
.7 = Sin| arcTan| — .8 = Cot| arcCos| — .9 =Sin| arcCos| —
L 4 6 6 ] T
L/ ]
"]
[ _ 1 (-4 1 (1 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 = Cos| arcCos| ~ | + arcSin| ~ ¢
2 9 3 6
1 5 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , .| @
5 7
M
b . on [ 17= . 107w
.S =arcTan| Cos| — |+ Sin| ——— .6 = Cot| arcCos| Sin| + arcSin| Cos| U
L 2 2 6 3 J T
L/
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.9843

C ]
_ NE ;
1 = arcSin(-1) .2=arcCos(1) .3 = arcSin E '
B A2 h
Nol =| .4 =arcCos ; .5 =arcCos T .6=arcTan(-1) |, ,|l @
M
3 A (A3 U
.7 = arcTan| T 8= arcSm(—«\/?) .9 = arcSin —T r
./ i

.1 =Tan(arcTan(-1)) 2= Tan(arcCos[%jJ .3 =Cos( arcTan(ﬂ/;))
T Sn
.4 = Sin( arcTan(«/; )) = arcSin( Sin[gjj 6= arcSin(Cos[TD
No2 = 3

13 i 9
7= arcSin[Sin( 67: D 8= arcCos[Cos[ TD 9= arcTan(Tan( D
(42 7n |2
.10 = Csc| arcSin 5 .11 = Cot| arcCos| Sin| — .12 = ArcSin| Cos| ArcSin| —

-] .ZzTan[mcos@j s-cofwsif )|
No3=|.4= Tan(arcSin(%D S= Cos{arcTang/%_D 6= Sin(arcTa E/?ijj b,
 wenfncof)) s-cufwtal L)) - safumcol 2

BN T

N~

-NcE® -8 T

~
W

[ 4 -1 1 2
A= Sin[arcCos(—j + arcSin(—D 2= Cos(arcCosE—j + arcSin(—D
7 2 3 3
4 1
No4 = 3= Sin(Z arcCos(;D 4= 005(2 arcCos[EjJ
. Sn (7= . 8
S= arcTan(Cos(Z T)+ Sm(— TD 6= Sec[arcCos(Sm[ p D + arcSln(Cos[TD]

M
| U
T
M
U

T
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~NCSR®= -8 X

No5 = Sin(2 arcSin(a.)),

No6 = Cos(2 arcCos(a.)),
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TrigonometryExercise5 for No.9854

No2 =

No4 =

sl )
[(ij%

7= arcSin(Sin[

No3 =

.1 =arcCos(0)

. ( /ﬁ]
4 =arcSin| ————
2

.7 =arcTan( —«\/? )

Nol =

13«
6

.4 =Cot( arcTan(—ﬁ ))

1
3= Sin[Z arcSin[ED

-3

2= Cos(arcSin[gj
-4

S= Csc[arcCos(;]
A5 3
.7 = Sec| arcSin| ? .8 = Tan| arcSin| g

[ 4 -1
= Sin(arcCos[—J + arcSin[—D
7 2

.2=arcCos(-3)
S=arcTan(l) .6= arcCosE

§=arcSin(1) .9= arcSin[

.2=Cos(arcTan(1))

b
5= arcSin(Sin[— ;D
8n
8= arcCos[Cos[Tjj
3
0= Cot[arcTan[— TD 1= Tan(arcSin(Cos{—

I -7
A= Sin[arcTan[;D

5

— N ~— N

.3 =arcCos

9= Sin(arccos(@D_

N | —
N7

S R
—

5

)

ey

2

S5n
6= arcSin(Cos(?j

s 2))
)

5m ’
9= arcTan(Tan(?D
J2
.12 = ArcSin| Cos| ArcSin| T

.3 =Cos(arcTan(4))

5
6= Tan(arcCos[;D

4 (2
2= Cos[arcCos(—] + arcSm(—D
7 7
1
4= cos[2 arcCos[ED

[Page = 0013]

on Il= S5n 5
S= arcTan(Cos(Tj + Sin(— 2 D 6= Sec(arcCos(Sin(— ?D + arcSin(CosL—

No5 =Sin(2 arcSin(a)),

No6 = Cos(2 arcSin(a.)),

b}

b}

No T NCaKXR

)

6

~~NQX®=~8 X

~NQX®=~28 ¥
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TrigonometryExercise5 for No.9862

X

C ]
3 2 2 a
A= arcSin[— LJ 2= arcCos(— LJ 3= arcCos[Lj ¢
2 2 2
h
(1
Nol = 4 =arcCos(1) 5= arcSm(Ej 6= arcTan(ﬁ) , .| @
M
A 3 U
.7 =arcCos(5) .8 =arcSin(0) .9 =arcTan| — T r
L i M
sl 3 cof 17 wral )T
.1 = Sin| arcSin| — .2 =Tan| arcCos| ———— .3=Cos| arcTan| — ——
2 2 3 a
2 !
. . T . T
4 Sm(arcCos(TD S= arcSln( Sln(— ED 6= arcSm[Cos{gD h
NOZ = > s @
S5n 41 13n
.7 =arcSin| Sin| — —— .8 =arcCos| Cos| — .9 =arcTan| Tan M
6 3 U
-1 ) 117 \/5 T
.10 = Cot| arcCos| ; .11 = Csc| arcSin| Cos 3 .12 = ArcSin| Cos| ArcSin| T ,
Car]
[ . 3 2 (-4 1 a
= Sln[arcTan(ED 2= Sec[arcSl (gjj 3= Tan(arcSln(;D p
. 4 7 2 h
No3=| .4=Sin| arcCos| — .5 =Csc| arcTan| — .6 =Tan| arcCos| — |||, .| @
5 6 5 M
5 -1
.7 =Cos( arcTan(—\/_ 5)) 8= Cos[arcSln( D 9= Cot[arcCos[;D l;
i M
"]
i ) 3 (2 1 (5 a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| — | + arcSin| — ¢
4 3 2 8
3 1 h
No4 = 3= Sin[2 arcCos[—D 4= COS[Z arcSin[—D , .| @
8 6 M
. (13= ) 2n
S=arcTan(Cos(3 ©) + Sin(-5m)) .6= Sec(arcCos{Sm( D + arcSm(Cos(— TJD U
L - T
L/ ]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10278

X

C ]
_ r ;
1 =arcCos(0) .2 = arcSin E 3 =arcCos(-7) '
2 3 , h
Nol =| .4=arcCos| — S=arcCos| ——— | .6=arcSin(-1)|, .| @
2 2
B | v
7= arcTan[— —J 8= arcTan(«/g ) 9= arcSin(—j u
L 3 2) ] T
L -/ -
I 3 (A2 ] [M]
.1 = Tan| arcTan| T .2 = Sin| arcCos| — 5 .3 = Cos| arcSin —T a
(-1 b . i !
.4 = Tan| arcSin ; .5 =arcTan| Tan| — .6 = arcSin| Cos z h
No2 = > s @
. T 5 17n
.7 =arcSin| Sin| — —— 8 =arcCos| Cos| — .9 = arcTan| Tan M
6 3 6 U
[ 1ln . ﬁ T
.10=Sec(arcTan(1)) .I1 = Sec| arcCos| Sin| — p .12 = ArcCos| Sin| ArcCos| — T )
- M_
3 4 A ﬁ a
.1 =Tan| arcCos T .2 =Cos| arcTan| g .3 = Cos| arcSin ¢
J6 2 h
No3=| 4= Sin(arcTan(— —D JS= Tan(arcSm[—D 6= Sec(arcSm[ D , | @
7 3 M
. -5 -3 U
.7 = Sin| arcCos| — .8 =Csc| arcTan| — .9 = Cot| arcCos
9 5 T
L /]
"]
[ ) 3 (1 2 (-1 a
.1 =Sin| arcCos| — |+ arcSin| ~ .2 =Cos| arcCos| = | + arcSin| — ¢
4 6 7 2
5 3 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcCos| = , .| @
8 7
M
. (17= . 2n
.5 =arcTan(Cos(7) + Sin(—4 7)) .6 = Sec| arcCos| Sin| p + arcSin| Cos| —T U
L - T
L/
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10361

[Page

2 2
A= arcSin[— g} 2= arcCos[%] .3 =arcSin(2)

3
4= arcSin(TJ S =arcSin(-1) .6=arcCos(1)

-1
7= arcCos(;] S=arcTan(-1) .9=arcTan(0)

Nol =

[ 3 B
A= Tan[arcTan[@D 2= Cos[arcSin[;D 3= Tan(arcSin[—
RE
.5 =arcCos| Cos T

.4 =Sin(arcTan(1))

No2 =
17n 37 1
7= arcSin(Sin[— TJJ 8= arcCos(Cos(— TD 9= arcTan(Tan[—
1 I
0= Csc(arcCos(ED Al = Csc(arcSinECos(— I)D 2= ArcCos( Sin(ArcCos
[ (A5 . 5 (s
.1 = Tan| arcSin| —T .2 = Sin| arcCos g .3 = Cot| arcSin| g
(4
No3=| 4= Cos(arcSm[gD .5 = Sec( arcTan(«/E)) .6 =Cos(arcTan(-5))
5 ‘ 5 J7
.7 = Tan| arcCos| — .8 =Sin| arcTan| = .9 =Csc| arcCos| ———
L 7 7 12 /]
[ 1 5 3 -1
A= Sin[arcCos(—j + arcSin(—D 2= Cos(arcCosE—j + arcSin(—jj
2 8 8 4
1 1
No4 = 3= Sin(Z arcCos[Ejj 4= COS(Z arcSin(ED
. 157 (13®m )
.5 =arcTan| Cos(m) + Sin| — T .6 = Cot| arcCos| Sin| p + arcSin| Cos
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
= 0016]

e

T
6= arcSin(Cos(;j
1

=

Ne—

> s

)

)

~NcE®=~s g

~NCE®S-~8 X

~~NQX®=~8 X
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TrigonometryExercise5 for No.10532

A= arcTan(ﬂ/; ) 2= arcTan(@J 3= arcSin[— @]

2 3
Nol =| 4= arcCos[%] .5 =arcCos(-5) 6= arcSin[gj

3
.7 =arcSin(1) 8=arcCos(-1) .9= arcCos[— g]

ool ) el B)) smcofus]-

“|§II\HQ§®w~Q <

- o7a
2 a
. -1 (= (m !
.4 = Sin| arcCos| — .5 = arcSin| Sin| — .6 = arcCos| Sin| — h
Nod = 2 4 6 @
B 5n I 137n S
7= arcSin(Sin[— —D 8= arcCos(Cos( D 9= arcTan(Tan[ jJ M
6 3 6 U
: n , 3 T
.10 =Cot(arcTan(1)) .11 = Cot| arcSin| Cos —Z .12 = ArcCos| Sin| ArcCos| T ,
]
B , 1 (4 a
.1 =Tan| arcCos —T .2 = Sin| arcTan g .3 = Sec| arcSin ; ¢
h
-5 2 -1
No3=| 4= Cot(arcCos[—D = Cos(arcSin(— LD 6= Cos[arcTan[—D , .| @
7 5 7 M
1 -4
7= Sin(arcCos[gD 8= Tan[arcSin(7D .9 = Csc(arcTan( —«\/; )) LZ{
] M
F ]
i ) 3 (-3 1 (1 a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
8 8 6 2
1 5 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , | @
2 7
M
. (17= ) 8
.5 =arcTan(Cos(4 ) + Sin(5 w)) .6=Cot| arcCos| Sin p + arcSin| Cos T U
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U

T
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TrigonometryExercise5 for No.10688

Far]
-1 1 a
1= arcCos(—«\/;) .2 =arcCos ; .3 =arcCos(-1) {
(42 /3 ”
Nol =| .4=arcSin| — S =arcCos| — .6=arcTan(0) |, .| @
2 2
B v
.7 =arcSin(0) 8= arcSin(— T] 9= arcTan(—«\/;) l]{
L/
_ 3 - C ]
A= cos(arcCos{%D 2= Tan[arcCos( {J] .3 =Sin( arcTan(—«\/g ) a
. ﬁ . b . 5w !
.4 = Cos| arcSin| _T .5 = arcSin| Sin Z .6 = arcSin| Cos| 7 h
NO2 = > s @
s 137 4n 177
.7 = arcSin| Sin| — .8 =arcCos| Cos| — .9 =arcTan| Tan| — M
6 6 U
(42 (13 _ 1 T
.10 = Cot| arcSin 7 .11 = Tan| arcCos| Sin p .12 = ArcSin| Cos| ArcSin E ,
]
s 3 , 1 a
.1 = Cos| arcSin _T .2 =Sec| arcTan —T .3 = Sin| arcTan Z ¢
-1 -4 1 h
No3=| 4= Cos(arcTan(—D 5= Csc(arcSin[— J 6= Tan[arcCos[—D , .| @
4 5 2
M
, J5 4 (4 U
.7 =Sin| arcCos| —— .8 = Cot| arcCos| — .9 = Tan| arcSin| =
L 8 7 7)) T
L/ ]
C ]
[ ) 3 (-1 5 (5 a
.1 = Sin| arcCos| ~ | + arcSin| .2 =Cos| arcCos| ~ | + arcSin| — t
8 2 6 8
1 3 h
No4 = 3= Sin[Z arcSin(—D 4= 003[2 arcSin(—D ., .| @
3 7 M
. 3n (5= ) 10w
S= arcTan(Cos(?a )+ Sm(— TD 6= Sec[arcCos(Sml?D + arcSm(Cos( 3 Dj U
L - T
! ]

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcSin(a.)),

b}

NQEK NCX
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TrigonometryExercise5 for No.10868

Car]
- . 4
.1 =arcSin(7) .2=arcCos(1) .3 =arcCos E ¢
h
3 3
Nol =| 4=arcTan(1) .5= arcSin[Lj 6= arcSin[— Lj , .| @
2 2 M
1
7= arcCos[;J .8 =arcSin(-1) .9 =arcTan(0) U
L A T
./ i

3 K J2 1
A= cos[arcCos[— gjj 2= Cos[arcSin[— Tj] 3= Sin(arcCos[Tj]
1 b
4= Tan(arcCos(Ej S= arcSin(Sin( j 6= arcSin(Cos - J
N 177 10m 1
7= arcSln(Sln(— p D 8= arcCos(Cos[ 3 J 9= arcTan(Tan( p

(13= . «/5
.10 = Cot(arcTan(1)) .11 = Sec| arcCos| Sin .12 = ArcCos| Sin| ArcCos| —

No2 =

o w|a

6

ool ool 12)) 5 -cufmecol L)) o-sulweru 2]}
enfurol )] nenfs2)) ool |

a
N
~—
\\]Qt@NNQE

N—
L

-3

\\]Qt@NNQE

[ 2 2 3 4
= Sin(arcCos[‘J + arcSin(—jj 2= Cos[arcCos(—j + arcSin(—D
5 3 7 7
1 1
No4 = 3= Sin[Z arcCos(ng 4= COS[Z arcSin(ED
(17 [S5m . n
S= arcTan(Cos( 3n)+ Sln[ 2 D 6= Csc[arcCos( Sln[TD + arcSm(Cos(— EDJ

No5 = Sin(2 arcSin(a.)),

~NQE®=~s8 K

5

No6 = Cos(2 arcSin(a)),

b}

NQE NQE
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TrigonometryExercise5 for No.10900

X

]
J2 (1 a
I =arcCos(l) .2=arcCos _T .3 = arcSin ; ¢
h
3 3
Nol =| 4= arcSin[£] 5 =arcSin(0) 6= arcTan[Lj , .| @
2 3 M
V2
7= arcCos(—«/;) .§=arcTan(-1) 9= arcCos[TJ (7{
L J M
[ 3 . 1 1 [ M]
.1 = cos| arcCos| —T .2 = Sin| arcCos ; .3 = Tan| arcCos| 5 a
b T !
.4 =Cos(arcTan(-1)) .5 = arcSin| Sin| — Z .6 = arcSin| Cos g h
No2 = > s @
1= b 11n
= arcSin( Sin( Jj 8= arcCos(Cos[ —jj 9= arcTan(Tan(— D M
6 3 6 U
3 7n 3 r
.10 = Sec| arcTan| T .11 =Csc| arcSin| C .12 = ArcSin| Cos| ArcSin| T ,
]
[ 5 . J2 )] a
.1 =Cos arcSln P .2 = Sin| arcTan ; .3 = Sin| arcCos| T t
4 5 -1 h
No3=| 4= Cot[arcSin(—D 5= Tan(arcCos(—jJ 6= Csc(arcTan[_D s ,| @
9 9 5 M
2
7= Sec[arcCos[ P D 8= Tan[arcSln(—D .9 = Cos( arcTan(—w/;)) U
L . T
L -/ .
"]
| . 5 (1 1 (4 a
.1 = Sin| arcCos| — |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
8 2 5 5
2 5 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , | @
5 9
M
. 15w [ 1T= . n
.5 =arcTan| Cos(5 7) + Sin| — 5 .6 = Csc| arcCos| Sin p + arcSin| Cos| — g U
- - T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.11693

.1 =arcSin(1) .2=arcTan(0)

(42 .
NoJ = 4= arcSln( ) ) S= arcSln[—

1
7= arcCos(Ej .8 =arcCos(-5)

A= cos[arcCos[

-1
4= Tan(arcCos(?j
7

N|§|
N
N—

)

b
5= arcSin(SinL—
4
1

sl 2

C ]
a
.3 =arcCos(0) ¢
ﬁ] 6—arcTan(— £] h
2) 7 3 )L L@
9=arcC [lj M
.9 = arcCos 5 U
T

L -/ -

3= Cos(arcTan[T
6= arcSin[Cos(?j
9= arcTan(Tan(TJ
. (1
2= ArcSm(COS(ArcSmEEDJ

)

3
6= Sec[arcTan[ZD

No2 =
. b 11n
7= arcSm(Sln[— ? j 8= arcCos(Cos( 3 J
«/5 (17n
.10 = Cot| arcCos| T .11 = Csc| arcCos| Sin p
[ A2 (4
.1 = Tan| arcCos —T .2 = Cos| arcSin| ;
(45
No3=| 4= Tan| arcSin T .5 = Cos(arcTan(-3))
3 ) -5
.7 = Cot| arcCos| g .8 = Sin| arcCos| 3
i 4 2
= Sin(arcCos{‘j + arcSinE—D
9 5
2
No4 = 3= Sin(2 arcSin[gD

1ln

b
S= arcTan(Cos[;] + Sin[—

No5 = Sin(2 arcCos(a.)),

No6 = Cos(2 arcCos(a.)),

[Page 0021]

) sl

>

b}

NQE NQOE

-1
9= Csc[arcSin(?D

3 -3

2= Cos(arcCosE—] + arcSinL—D
5 7
1

4= cos(Z arcSin(gD

JJeamsilcod -22))

Ilx

M
a
t
h
@
M
U
T
!

~NQE®F~5 K

~NQR®= -8 X
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TrigonometryExercise5 for No.12097

C ]
_ 3 _ ;
.1 = arcSin T .2 =arcCos(-7) .3 =arcTan(-1) ¢
3 !
Nol=| 4=arcSin(-1) .5= arcCos(— —J .6=arcCos(0) ) .| @
M
1 -1
7= arcTan(«/g ) 8= arcCos[—] 9= arcSin[—j u
| 2 2] T
!

A= Sin[arcSin[@D 2= Tan[arcCos(%D .3 =Cos( arcTan(—v\/; ))
. . S m ) 3n
.4 = Sin(arcTan( «/; ) S= arcSm( Sln(—jj 6= arcSln[Cos{TD
13n 5n S
7= arcSin(Sin( D 8= arcCos(Cos(— ?D 9= arcTan(Tan(7jj
ﬁ ( 13x -1
.10 = Csc| arcCos| — 7 .11 = Cot| arcCos| Sin| — p .12 = ArcSin| Cos| ArcSin| E

No2 =

~NQEX®>~=8 &

A= cSc[arcSin@D 2= Cos[arcTan[J%D 3= Sec(arcTan(?D_
No3=| 4= Tan(arcCostJ 5= Sin(arcCos[%]J .6 =Tan| arcSln(_; D

arcCos(?D 8= Cos(arcSin(— gD .9 = Sin(arcTan(3 ))

i 2 -5 4 2
= Sin(arcCos(—J + arcSin(—D 2= Cos(arcCos(—] + arcSinE—D
7 6 9 3
2 1
No4 = 3= Sin[Z arcCos(;D 4= COS[z arcCos[Ejj
. . Sn . Tn
.5 =arcTan(Cos(n) + Sin(-2®)) .6= Sec[arcCos(Sm[— ?D + arcSln[Cos(TjD

BN

(9%}

.7 =Cot

VR

M
a
t

h
@
M
U
T
! ]

~NQX® >~ X%

5

No5 = Sin(2 arcCos(a.)),

No6 = Cos(2 arcSin(a)),

b

NQX ~NCX
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TrigonometryExercise5 for No.12172

[ -1
.1 =arcTan(0) 2= arcSin[;j 3 =arcCos(1)

2
Nol =|.4=arcSin(-1) .5= arcCos(— LJ .6 =arcSin(5)

1
.7=arcTan(1) 8= arcCos[Ej

el

ey

-1 2 2 [ M ]
= cos(arcCos[—j] 2= Cos[arcSin[— £D 3= Sin(arcCos(— £D
2 2 2 a
) «/; 3n 2m !
.4 = Tan| arcSin| _T .5 =arcCos| Cos T .6 = arcSin| Cos| T h
N02 = > s @
137 137 137
.7 =arcSin| Sin| — 5 .8 = arcCos| Cos .9 = arcTan| Tan| M
U
(1 In «/5 T
.10 = Csc| arcSin 5 .11 = Cot| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin| T ,
F ]
-5 5 5 ] a
= Tan[arcCos(;D 2= Cos(arcTa E?D 3= Cot[arcCos(;D P
7 1 . J7 h
No3 =| .4 =Sec| arcTan g .5 = Tan| arcSin| g .6 = Sin| arcTan —T , .| @
6 J5 u
-5 5
7= Cos[arcSin(—D 8= Csc(arcSln[ ]J 9= Sin[arcCos(— —D u
L 9 7 8 /)] T
L/ ]
]
i ) 3 (2 1 (3 ] a
.1 = Sin| arcCos| — |+ arcSin| ~ .2 =Cos| arcCos| 7 | + arcSin| — ¢
5 3 3 5
1 3 h
No4 = 3= Sin[2 arcCos[—D 4= 005[2 arcSin[—D , .| @
4 5
M
. . I1n . L
.S =arcTan(Cos(n) + Sin(4 t)) .6= Csc(arcCos(Sm(— TD + arcSm[Cos{— EJD u
L - T
L/ ]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12173

C ]
1 3 a
1= arcTan(«/; ) 2= arcCos[Ej 3= arcTan(— g} ¢
3 -1 h
Nol=| 4= arcSin(«ﬁ) S= arcSin(—] 6= arcCosE—j ., .| @
2 2 M
. 2 . U
.7 = arcSin| — T .8 =arcCos(-1) .9 =arcSin(0) T
!

2 1
.1 = cos| arcCos T .2 =Tan| arcCos| ; .3 =Cos(arcTan(-1))

3 b4 I
4= Sln[arcCos(— £D 5= arcSm(Sm(—D 6= arcCosESm(—D

2 6 3

No2 =

N Sn Tn
.7 = arcSin| Sin| — ? =arcCos| Cos| —/ .9 =arcTan| Tan| — ——

. 137 .
.10 = Cot( arcTan(—«\/;)) .11 = Tan| arcCos| Sin| — .12 = ArcCos| Sin|

6
ArcCos(
6

i N Cos(arcsin[f D 2= Cot(arcTan( D 3= Tan(arcSin(gjj i
No3=| 4= Tan(arcCosEé]) 5= cOs(arcTanSJJ 6= Csc(arcCosGD :
sl ) ool )] s

i 1 4 1 -4 i
= Sin(arcCos[—J + arcSin[—D 2= Cos[arcCos(—j + arcSin[—D
2 9 2 5
. (2 (1
No4 = 3= Sln[2 arcSm(gD 4= 005(2 arcSm[ED
91 (= ) 17 = ) T
.5 =arcTan| Cos T + Sin| ; .6 = Csc| arcCos| Sin| — p + arcSin| Cos| —;

~ N QRO ~5 K

VR

N|§|
Ne—
N—
\_/
T

(SR KT -

-

~ 5
N
L

~NCE®s~s %

~NQEK®=~=2 X

No5 =Sin(2 arcCos(a)),

b}

b}

No6 = Cos(2 arcCos(a.)),

No T NCGKXR
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TrigonometryExercise5 for No.12180

Far]
3 a
1 =arcSin(1) .2 =arcCos| — T .3 =arcTan(0) ¢
h
1 3
Nol=| 4= arcSin(—j 5= arcCos[Lj 6=arcSin(3) |, | @
2 2 M
V2
7= arcSin[— TJ 8= arcTan(—«\/;) .9 =arcCos(-1) l]{
L J M
_ 3 5 - C ]
.1 =Tan( arcTan(—«\/;)) 2= Sin[arcTan[— g]} 3= Cos[arcSin(— gn a
«/; 3n 27 !
.4 = Tan| arcSin| T .5 = arcCos| Cos| T .6 = arcSin| Cos| T h
No2 = g s @
o 13n 3w 13n
.7 = arcSin| Sin| — .8 =arcCos| Cos| ——— .9 = arcTan| Tan| M
6 4 6 U
«/; . Tn -1 T
.10 = Csc| arcTan| T .11 = Sec| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos| E ,
C 0]
1 NERN a
.1 = Cot| arcCos| g 2= Tan| arcSin| — 5 .3 = Tan| arcCos| —T ¢
1 1 h
No3 =| .4=Cos(arcTan(-4)) = Sec[arcTan[g J 6= Csc[arcSm(Zj , .| @
5 B 5 i
.7 =Cos| arcSin| ——— .8 = Sin| arcTan| —— 9= Sln arcCos| —
L 9 3 9 T
L /]
F ]
[ . 3 (-3 1 (4 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 4 2 5
2 2 h
No4 = 3= Sin[2 arcCos[—D 4= 005(2 arcSin[—D , .| @
7 3 M
. (1ln . L
S =arcTan(Cos(n) + Sin(-2 w)) .6= Csc[arcCos( Sln( D + arcSm(CosL— ;]D U
L - T
(S ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12256

]
a
J2 , \2 ‘
A =arcCos| ———| .2=arcSin(1) .3=arcCos| ——
2 2 h
Nol=| .4=arcTan(0) 5=arcCos(-1) .6=arcCos(-5) || .|l @
-1 1 M
.7 =arcTan(1 .8 =arcSin| — .9 =arcSin| ~
arcTan(1) arc 1n(2J arc 1n(2J U
T
!

el D) sl ) scnafmenfl)) ]
el L)) saenafralZ) e 1))
e B2 e 28] e 22
= 5| el cof )] = mwsi{of el 3 )

rrcfel]) srmef2) s-ced )

M
a
t
h
No3 =| 4=Sin(arcTan(-6)) .5= Sec(arcTan[— @D 6= Tan(arcCos(_ £D , .| @
M
U
T
/

No2 =

~N QX =~ X

4
. -2 (3
7= Sln(arcCos[7D .8 =Cos(arcTan(5)) 9= Tan[arcSm(;D

[ 1 3 5 -5 ]
A= Sin(arcCos(—J + arcSin(—D 2= Cos[arcCos(—J + arcSin(—D
2 7 7 6
. (1 (1
No4 = 3= Sm[Z arcSm[gD 4= 005(2 arcSm[gD
. Il (5= ) 4
S= arcTan(Cos( S5m)+ Sm(— 5 D 6= Csc(arcCos( Sln(?D + arcSln(CosETjD

T

~~NQRX®=~= X

No5 =Sin(2 arcSin(a)),

b}

No6 = Cos(2 arcSin(a.)),

k)

No T NCKX
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TrigonometryExercise5 for No.12278

Nol =

-1
7= arcSin[—j
2

C ]
A
.1 =arcTan(-1) 2= arcTan(«/?) .3 = arcSin 7 ¢
h
3 ! .
4 =arcCos| ——— S =arcCos| ~ G6=arcSin(2) | | @
2 2 M
8=arcSin(1)  .9=arcCos(0) LT]
./ i

/3 M
.1 = cos| arcCos| — 7 .2 = Sin( arcTan(«/;)) .3 =Cos(arcTan(-1)) a
-1 b b !
.4 = Tan| arcSin| — .5 =arcTan| Tan| — — .6 = arcSin| Cos| — h
No2 = 2 6 4 @
B (7= 2 17w S
.7 =arcSin| Sin| — —— .8 =arcCos| Cos| ——— .9 =arcTan| Tan| M
6 3 6 U
(43 ( U= . V2 T
.10 = Cot| arcSin T .11 = Csc| arcCos| Sin| — p .12 = ArcCos| Sin| ArcCos| 7 )
]
(5 7 % a
.1 = Csc| arcSin| g .2 =Cos| arcTan| —T .3 = Sec| arcTan| ; ¢
-1 3 5 h
No3=| 4= Tan(arcCos[—D 5= Tan(arcSin(—Jj 6= Sin(arcTan(—D , | @
5 5 2
8 | YN
.7 =Cot| arcCos| ——— .8 = Sin| arcCos| = .9 =Cos| arcSin| ———
L 8 5 10 //J T
L/ ]
]
[ ) 2 (1 1 (-1 | a
.1 =Sin| arcCos| T |+ arcSin| ~ .2 =Cos| arcCos| = | + arcSin| — ¢
3 6 5 2
3 5 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , .| @
8 8
M
. (T . 117
.S =arcTan(Cos(5 )+ Sin(5w)) .6= Sec[arcCos(Sm[?D + arcSm(Cos( DJ U
L . T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.12482

Fa]
3 3 a
A= arcSin(%J 2= arcTan[gj .3 =arcSin(0) ¢
h
-1 2
Nol=| 4= arcCos(—J S= arcSin[— Lj .6=arcTan(0)} | @
2 2 M
1
7= arcSin(«/E) 8= arcCos[EJ .9 =arcCos(1) l]{
!

)

2
T

.4 =Sin(arcTan(1)) S= arcTan(Tan(Zj

J 2
I
j 6= arcCos(Sin(— —j
4
. 17xn b I1x S
.7 = arcSin| Sin| — p .8 = arcCos| Cos —? .9 =arcTan| Tan —T

-1 . n . . «/;
.10 = Csc| arcCos E .11 = Tan| arcSin| Cos —Z .12 = ArcSin| Cos| ArcSin

2
.1 =Sin(arcTan(4)) .2= Tan(arcSin[— g}] 3= Tan[arcCos(@D

-4 7 -5
No3=| 4= Sec(arcSin[;D S= Cos[arcTan[g J 6= Csc[arcCos(zD
-6 ) 3 (3
.7 = Cot| arcTan ; .8 = Sin| arcCos| g .9 = Cos| arcSin| ;

No2 =

_ = Sin[arcSin[g]J 2= Cos[arcSin[-_ 3= Tan(arcSin[— ﬁ%} |

Ne—

~NQE®F~5 K

w

~NCE®=~s %

M
i ) 5 (1 1 (-1 | a
.1 =Sin| arcCos| — |+ arcSin| = .2 = Cos| arcCos| ~ | + arcSin| — ¢
9 2 2 2
3 2 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , | @
7 5
M
. . Sn . 11n
.S =arcTan(Cos(2 n) + Sin(-2 w)) .6 = Csc| arcCos| Sin| —? + arcSin| Cos 3 U
- - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.12586

C ]
1 1 a
.1 = arcSin E 2 =arcSin(1) 3= arcTan(—«\/;) ¢
h
3 2
Nol =| 4= arcSin[—£] 5= arcSin(—«\/E) 6= arcCos(— LJ , | @
2 2
M
2 U
.7 =arcCos(-1) .§=arcTan(0) .9 = arcCos| T T
L J M
I 2 3 [ M]
.1 =Tan(arcTan(-1)) .2 =Tan| arcCos| — 7 .3 = Cos| arcTan| —T a
3 n !
.4 = Sin| arcCos| —— .5 =arcTan| Tan| — .6 = arcCos| Sin| —— h
No2 = 2 4 > s @
. 177 17n M
.7 =arcSin| Sin| - ——— .8 = arcCos| Cos| — .9 = arcTan| Tan| —
6 6 U
. 5 : 1 T
.10 = Cot( arcTan(«/?)) .11 = Cot| arcSin| Cos| — .12 = ArcCos| Sin| ArcCos E )
]
i -4 ) 2 4V ] a
.1 =Cos| arcTan| ? .2 = Sin| arcTan ; .3 = Csc| arcCos| g ¢
h
3 7 5
No3=| 4= Tan(arcSin(— £D S= Sin[arcCos[LD 6= Sec(arcTan(LD , | @
8 1 7 M
-5 (2 (-4 U
.7 =Tan| arcCos| — .8 = Cos| arcSin| = .9 =Cot| arcSin| —
L 7 3 7)) | T
L / .
"]
[ , 1 (5 4 (-5 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 8 9 7
5 1 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcCos| ~ , .| @
6 2
M
. (1= . Sn
.5 =arcTan(Cos(3 )+ Sin(5w)) .6 = Sec| arcCos| Sin p + arcSin| Cos T U
L - T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
0029]
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TrigonometryExercise5 for No.12677

C ]
a
3 1 ,
.l =arcCos(0) .2=arcCos| —— .3 =arcCos| —
2 2 h
Nol =| 4 =arcTan(1) .5 =arcSin(1) 6= arcCos(—«\/;) , .| @
(1 (A5 M
.7 = arcSin 5 .8 = arcSin _T .9 =arcTan(0) U
T
L/

. (-1 4/ 3 ) -1
.1 = Sin| arcSin ; .2 =Cos| arcTan _T .3 = Sin| arcCos| ;
. «/; . ) ) 5w
.4 =Tan| arcSin| ——— .5 = arcSin| Sin| .6 = arcSin| Cos| ——
2 6
No2 =
o 11n I1n I1n
.7 = arcSin| Sin| — p .8 = arcCos| Cos 3 .9 =arcTan| Tan| —

6

|a

—_ N

|l

~NcE®=~s %

(1= . ﬁ
.10 =Csc(arcTan(1)) .11 =Tan| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos| — T
]
_ > - “
.1 = Tan| arcSin g .2=Csc(arcTan(-7)) .3 = Sin( arcTan(—«\ﬁ)) p
. 1 (43 7 ”
No3 = .4 = Sin| arcCos| — .5 = Cot| arcSin .6 = Cos| arcTan| — , .| @
6 4 4
M
J7 2 (3 U
.7 =Tan| arcCos| - —— .8 =Sec| arcCos| — .9 =Cos| arcSin| —
L 9 3 7)) ] T
(. ~/ -
]
i ) 1 (2 3 (1 a
.1 = Sin| arcCos| ~ |+ arcSin| .2 =Cos| arcCos| ~ | + arcSin| ~ ¢
2 3 7 3
I I h
No4 = 3= Sin[2 arcSin[—D 4= 005[2 arcCos[—D , .| @
2 2
M
. . S5n . Sn
.5 =arcTan(Cos(m) + Sin(m)) 6= Cot[arcCos(Sm[— 7)] + arcSm(Cos(TjD U
L T
!

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcSin(a.)),

b}

NQoEK ~NCX
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TrigonometryExercise5 for No.13490

Far]
1 2 a
A= arcCos(Ej 2= arcSin[%J .3 =arcCos(1) ¢
-1 h
Nol =|.4= arcTan(—v\/;) .5 =arcSin(-1) 6= arcCosE;j , .| @
L) v
.7=arcTan(1) .8= arcSin(—v\/;) 9= arcSin[— 7] l]{

./ _

=

A= Sin( arcSin(

) il 2 [scod 3 .
.2 =Cos| arcSin| —— .3 =Tan| arcCos| ~
2 2 a
. «/; 3n . L !
.4 = Sin| arcCos| T .5 =arcCos| Cos T .6 = arcCos| Sin| —g h
NOZ = > 5 @
. Tn 4n 1=
.7 =arcSin| Sinf — —— .8 =arcCos| Cos| — .9 =arcTan| Tan M
6 3 6 U
-1 o 17n _ aa T
.10 = Sec| arcCos| ; .11 = Cot| arcCos| Sin| — p .12 = ArcSin| Cos| ArcSin —7 ,
]
en (3 . 1 a
.1 = Csc| arcSin —T .2 = Tan| arcSin| Z .3 = Sin| arcCos| 5 ¢
h
-3 -1 3
No3=| 4= Sin[arcTanL—D 5= Cos(arcSin(—D 6= Tan[arcCos(LD ., .| @
2 2 8 M
-1 «\/7 U
.7 =Cot arcCos ; .8 =Cos| arcTan| T .9 =Sec(arcTan(5)) T
L i M
Fa]
i ) 3 (2 1 (3 i a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
7 5 2 4
1 1 h
No4 = 3= Sin[2 arcCos[—D 4= 005(2 arcSin[—D , .| @
2 2
M
. (13 = . 8m
.S =arcTan(Cos(n) + Sin(4 t)) .6= Sec(arcCosESm( D + arcSm(Cos(TjD U
L - T
L/ ]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.13500

X

C ]
2 a
.1 =arcTan(0) .2 =arcCos| — T .3 =arcCos(1) '
h
2 3
Nol=| 4= arcCos(Lj 5= arcSin[ij .6=arcSin(-1) || .| @
2 2 M
3
7= arcSin[— TJ 8= arcCos(«/E) 9= arcTan(—«/;) (7{
L J M
[ -1 3 1 [M]
A= Sin[arcSin(;D .2 =Cos( arcTan(«/; )) 3= Tan[arcCos[— g]j a
b 3n !
.4 =Sin(arcTan(-1)) .5 =arcCos| Cos g .6 = arcSin| Cos T h
No2= (. (1Tn T Iln | @
.7 = arcSin| Sin| .8 =arcCos| Cos| — .9 =arcTan| Tan| —— M
3 6 U
N ( (1z . (A2 T
.10 = Cot| arcSin —T .11 = Cot| arcSin| Cos T .12 = ArcSin| Cos| ArcSin 7 )
C ]
i -5 (5 (5] a
.1 =Tan| arcCos| — .2 = Sec| arcSin| — .3 =Cos| arcSin| — ¢
7 7 8
7 5 7 h
No3 =|.4=Tan| arcSin| ——— .5 =Sin| arcCos| — .6=Sin| arcTan| — || |, .| @
9 7 2
s g | o
.7 =Cot| arcCos| —— .8 =Csc| arcTan| ——— .9 =Cos| arcTan| —
L 9 4 5] T
L -/ .
Far]
i _ 3 (2 3 (3 a
.1 = Sin| arcCos| — |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
8 7 7 4
1 1 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| ~ , .| @
3 2
M
[S5m X Tm ) T
S= arcTan[Cos(S )+ Sln[TD 6= Cot(arcCos[Sm(— ?D + arcSm[Cos[— EJD U
L - T
L ! -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
[Page = 0032]

):0.0:0:0:0.0.0.0:9:9.0.0.0:0:9:9,0.0.0:0:9.0.0.0:0:9.0,0.0.0:0.0.0.0.0:0.:9:9,0.0.0:0.0.0.0.0:0.9,0.0.0.0:9:9.0.0.0:0.9.0.0.0.0:9.9.0.0.0:0.:9.0,0.0.0:0.0.0.0.0:0.:9.0,0.0.0.0.0.0.¢



):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXKXXKXKXXKXKXXKKXKKK XK KK KL KK KK KK KKK KKK KKKKKKKKMSE /1-6400305-00033XX
TrigonometryExercise5 for No.13637

Far]
- ﬁ - ;
.l =arcTan(0) .2 =arcCos| — T .3 =arcSin(-5) ¢
h
. 1
Nol =| 4= arcTan(«/;) .5 =arcSin(-1) 6= arcCos(Ej , .| @
M
. 4/; (-] U
.7 =arcSin| —— .8 =arcSin| .9 =arcCos(0)
L 2 2 i T
(. -/ -
1 2 2)) 1 [M]
A= Sin[arcSin(ED 2= Cos[arcSin[— LD 3= Tan[arcCos[— gjj a
- t
.4 = Sin( arcTan(«/;)) = arcCos[Co (—D 6= arcCosESin(—D h
6 6
No2 = > s @
N Sn b 177w
.7 =arcSin| Sin| - —— .8 = arcCos| Cos| — .9 =arcTan| Tan| - —— M
6 6 U
T 1
.10 =Csc(arcTan(-1)) .1Il= Csc(arcSin(Cos( Dj A2 = ArcCos( Sin[ArcCos[EjD ]/W
Far]
| 4 (s | 2 a
.1 = Sin| arcCos g .2 = Sec| arcSin ? .3 = Sin| arcTan 7 ¢
h
7 3 7
No3=| 4= Csc(arcCos(— LD J= Cos[arcTan[— LD 6= Cot[arcTan[—D , | @
11 4 3 M
(5 -3 (2 U
.7 =Cos| arcSin| ~ .8 = Tan| arcCos| — .9 = Tan| arcSin| —
L 6 4 7))] T
L -/ .
]
i ) 1 (-1 4 (2 a
.1 = Sin| arcCos 5 + arcSin| ; .2 =Cos| arcCos| g + arcSin| g ¢
5 2 h
No4 = .3 =Sin| 2 arcCos| — .4 = cos| 2 arcSin| = , | @
6 3
M
. (17= . 8
.S =arcTan(Cos(5 n) + Sin(-3 w)) .6 = Cot| arcCos| Sin p + arcSin| Cos T U
- - T
L ! .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.645101

M
J2 1 a
.1 = arcSin _T .2 = arcSin| 5 3 =arcCos(-1) ¢
h
3 3
Nol =| 4= arcCos[L] 5= arcTan[— £j .6=arcTan(1) |, , @
2 3 M
. 3 . U
.7 =arcSin(0) .8 = arcCos| —T .9 =arcSin(5) T
. . L/
I N (A3 , ﬁ M
.1 = cos| arcCos| ; .2 = Tan| arcSin| — 5 .3 = Cos| arcSin| T a
[ t
. 2 b b
4= Sln(arcC()s[—D S= arcCos(Cos(—D 6= arcCos(Sln[ —D h
NO2 = 2 > s @
([ 17m
7= arcSln[ Sln[ D 8= arcCos[Cos[ D 9= arcTan(Tan[— —D M
6 6 U
(-1 In . 1 T
.10 = Csc| arcSin| ? .11 = Csc| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos E ,
~ M_
i -4 1 1 a
= Sec(arcTan(—D 2= Tan(arcSm[ D 3= Sin[arcCos(—D P
7 2 6
. 1 -4 2 h
No3 =| .4=Sin| arcTan ; .5 = Tan| arcCos 7 .6 = Cos| arcSin —? , | @
b | f7 v
.7 =Cot| arcCos| —— .8 = Csc| arcSin| — .9 =Cos| arcTan| ——
L 8 6 3 i T
L/ ]
]
[ 5 3 1 1 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
6 7 6 2
5 1 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| ~ , | @
9 2
M
Sn (9m . Sn ) b
.5 =arcTan| Cos| — |+ Sin| —/— .6 = Csc| arcCos| Sin| —— | | + arcSin| Cos| — — U
L 2 2 6 3 i T
L ! -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.645102

]
3 2 ;
-1 3 2
A= arcCos(—J 2= arcCos[—] 3= arcSin[— —J !
2 2 2 h
Nol =| .4 =arcCos(-1) .S =arcCos(7) .6=arcSin(0) | ,| @
EIERE
.7 =arcTan(0) .§=arcTan(1) .9 = arcSin T U
T
(. -/ -
3 (1 M
.1 =Tan| arcTan| T .2 =Cos(arcTan(1)) .3 = Tan| arcSin 5
b b
.4 = Sin( arcTan(—v\/; )) S= arcTan(Tan(—D 6= arcCosESin(— j
No2 = 6 6

(7= 107 Tn S
.7 = arcSin| Sin| ? .8 = arcCos| Cos T .9 = arcTan| Tan| —

6
(42 (5m | (42
.10 = Csc| arcSin T .11 = Sec| arcCos| Sin| ? .12 = ArcSin| Cos| ArcSin —T
[ 3 -1 ) ]
A= Sec[arcCos(gD 2= Tan(arcSin(ZD 3= Cot[arcSin(gD
(43 5
No3 =| .4=Cos| arcSin T .5 = Tan| arcCos 7 .6=Cos(arcTan(3)) | ,
. 3 ‘ 7
.7 = Sin| arcCos| — ? .8 =Csc(arcTan(-5)) .9=Sin| arcTan| 7

~NCE®=~a %

R R —

W

[ 1 1 2 -4 )
= Sin(arcCos[‘J + arcSinE—D 2= Cos(arcCosE—] + arcSinL—D
2 4 3 5
5 1
No4 = 3= Sin(Z arcCos(;D 4= cos(Z arcSin(ED

.5 =arcTan(Cos(3 n) + Sin(-n)) .6= Cot(arcCos[ Sin( 1761r D + arcSin(Cos(— %D]

~NSE®~s ¥

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcCos(a.)),

b

NQE NQOE
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TrigonometryExercise5 for No.645103

Nol=| .4=arcCos(5)

.7=arcTan(1)

\S)

ol )

4= Tan(arcCos(—

13«
7= arcSin(Sin[
|2

U)

No2 =

|
=)
)

6

0= Cot[arcCos(—

e
K 7= Cos[arcTan[TzD

[ 2 3
A= Sin[arcCos(—) + arcSin(—D
5 7
) 3
3= Sln(2 arcCos(ZD

N—

(O}

No3 =

No4 =

No6 =

[Page 0036]

- )

JS= arcTan(Tan(

8= arcCos[Cos(

—D .11 =Cot] arcCos{Sm[ LDJ
2 6
.2 =Sin(arcTan(-2))

e
8= Cot(arcTanGD 9= Csc[arCCOS(TzJ]_

b (3= {17z
.5 =arcTan| Cos 5 + Sin| 7 .6 = Cot| arcCos| Sin| p

No5 =

C ]
3 2 a
.1 =arcTan| — T .2=arcCos(0) .3 =arcCos| — 7 ¢
1 h
S=arcSin(1) .6 = arcSin (5 , | @
M
I3 (-1 U
.§=arcCos| = .9 =arcSin| —
2 2 J T
./ i

9= arcTan( Tan[

T 2= ArcCos[ Sin(ArcCo

s rufwsifZ] |
ool |

& mll\)

3 -1
2= Cos[arcCos(—j + arcSin[—D
8 3
1
4= 005(2 arcSin[—D
4

10w

)

Sin(2 arcCos(a.)),

b}

Cos(2 arcSin(a.)),

b}

NQoEK ~NCX

1

3= Sln(arcCos[—J
2
b

6= arcCosESm(gj

Ne—

|

43
N

N—
L

~NCE®s~8 &

)

T

~NQE®F~5 K

~N QX >~ X
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TrigonometryExercise5 for No.645104

M
2 a
.1 =arcCos —T .2=arcTan(0) .3 =arcTan(1) ¢
/2 !
Nol=| . 4=arcCos(-1) JSJ=arcSin(l) .6= arcCos[T] , .| @
M
3 3
7= arcSin[— —[j 8= arcSin(«/;) 9= arcSin[—[j u
L 2 2 /] T
(. -/ -
1 2 2 1 [M]
A= Sin(arcSin[ED 2= Tan[arcSin(— gD 3= Sin[arcCos[ng a
-1 n _ 5n !
.4 = Cos| arcSin| — .5 =arcTan| Tan| — .6 = arcSin| Cos| —— h
2 6 6
NO2 = > s @
. T b 11n
.7 =arcSin| Sinf — —— .8 =arcCos| Cos| — — .9 =arcTan| Tan| — M
6 3 6 U
3 (17n 2 T
.10 = Sec| arcTan| T .11 = Csc| arcCos| Sin p .12 = ArcSin| Cos| ArcSin T ,
]
i 1 5 a
= Cos[arcTan(—D 2= Csc[arcTan[ D 3= Cos(arcSin(—D P
2 6 9
_ 5 5 . J5 h
No3 =| .4=Sin| arcCos g .5 = Sec| arcCos 7 .6 = Sin| arcTan| — T , .| @
s B 3 o
.7 =Tan| arcCos| —— .8 = Tan| arcSin| ——— 9= Cot arcSin| —
L 6 5 5 i T
L/
Cur]
[ _ 2 (1 1 (-1 a
.1 = Sin| arcCos| T |+ arcSin| — .2 =Cos| arcCos| = | + arcSin| — ¢
3 4 3 2
1 1 h
No4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcCos| = , .| @
2 5
M
9n o 1= [ 5= . Sm
.S =arcTan| Cos| — |+ Sin| ——— .6 = Cot| arcCos| Sin| —— | [+ arcSin| Cos| —/— U
L 2 2 6 3 i T
./ .

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcSin(a)),

b}

NQX ~NCX
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TrigonometryExercise5 for No.645105

3 1]
.1 =arcTan(0) 2= arcCos[gj 3= arcSin[Ej

3 .
Nol=| 4=arcCos| — T .5 =arcSin(3) .6 =arcCos(1)

(-1 .
7= arcTan(«/;) 8= arcSm[;j .9 =arcSin(-1)

J2
A= cos[arcCos[— TD .2 =Cos( arcTan(«/; )) 3= Tan[arcCos(

.4 = Sin( arcTan(—«\/? )) S= arcCos(Cos{%D 6= arcCos( Sin(
11n 3n S
7= arcSin(Sin(— p D 8= arcCos(Cos(— TD 9= arcTan(Tan(— D
b

cof s 7)) -l s o] 13
.10 =Csc(arcTan(-1))  .I1=Tan| arcCos| Sin| — p .12 = ArcCos| Sin| ArcCos, T

I 1 1 -3
A= Cot[arcSin(ZD 2= Sin[arcTan[4 j 3= Sec(arcTan(;D
5 6
No3=| 4= Tan(arcSin(— TD S= Sin(arcCos(%D 6= Cos(arcTan(— gD P
1 -4 (-2
.7 =Tan| arcCos g .8 = Csc| arcCos| g .9 = Cos| arcSin| ?

- .=

(SR

No2 =

w |3
—

—_
N | @

-

SSCE®s-~s ok

L

~NCE®=~a %

1 1 4 -1 )
= Sin(arcCos(—j + arcSinE—D 2= Cos(arcCos(—j + arcSin(—D
2 2 5 4
2 1
No4 = 3= Sin(2 arcSin(gD 4= 005(2 arcSin(EjJ
T . R (1l . T
.5 =arcTan| Cos T + Sin| — T .6 = Sec| arcCos| Sin p + arcSin| Cos| T

M
No5 =Sin(2 arcCos(a)), ,| U

T

M
U

T
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N SE®=-~-s K

No6 = Cos(2 arcSin(a)),
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TrigonometryExercise5 for No.645106

C ]
3 3 a
A= arcSin[gj .2=arcSin(1) 3= arcTan(gJ ¢
) h
Nol =| 4= arcCos[— —] .5 =arcSin(5) .6=arcTan(-1) |, ,| @
2 M
«/E (-1 U
.7 =arcCos(0) .8 =arcCos| —— .9 = arcSin| —
L 2 2) 4 T
L -/ -
-1 3 2 [ M ]
A= cos[arcCos(;]J 2= Cos(arcTan(— g J 3= Sin(arcCos[— £

)
s L2 )

wla »

)
someofeol5]) ool

~NCE®F~5 K

X

NO2 = 2 > >
o 13n 2n 13n
.7 = arcSin| Sin| — p .8 = arcCos| Cos —T .9 =arcTan| Tan p
3 o 1= . V3
.10 = Cot| arcTan T .11 = Cot| arcCos| Sin| —T .12 = ArcCos| Sin| ArcCos| — T
"]
[ 5 -5 1)) ] a
= Tan[arcSin(gD 2= Sec[arcSin(;D 3= Cos(arcTan(;D ¢
1 5 7 h
No3=|.4= Tan[arcCos[—D 5= Sin[arcCos[—D 6= Cos[arcSin[—D , .| @
2 7 12
3 L o
7 -
7= Sin(arcTan(—D 8= Csc[arcCos(—D 9= Cot(arcTan(— —D u
L 2 7 7 )/] T
L/ ]
]
i ) 1 (-1 1 (3 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| — | + arcSin| = ¢
5 4 2 7
2 1 h
No4 = 3= Sin[2 arcSin[—D 4= 005(2 arcCos(—D R @
3 4
M
3n (Tn . 5w . T
.5 =arcTan| Cos| — |+ Sin| —— .6 = Sec| arcCos| Sin| ——— | | + arcSin| Cos| — — U
L 2 2 6 3 i T
L/ ]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.645107

X

Far]
a
.1 =arcCos(1) .2=arcTan(0) 3= arcCos(«/;) ¢
P [ ﬁ] e [ﬁ] . S.[ﬁj h
Noj = | -4 =arcCos 5 .5 =arcCos 5 .6 = arcSin| IR
-1 M
.7 = arcSin ; .8 =arcTan(-1) .9 =arcSin(0) U
T
/ -
i 3 ‘ ﬁ 1 M ]
.1 = Tan| arcTan| —T .2 =Sin| arcCos| ——— .3 = Tan| arcCos| ; a
p t
.4 =Cos( arcTan(—v\/;)) = arcCos[Co (?D 6= arcCosESin ; j h
No2 = o ( 17n 4n 17 | @
.7 = arcSin| Sin| — .8 =arcCos| Cos| —//— .9 = arcTan| Tan| M
3 6 U
(42 (n . 2 r
.10 = Csc| arcSin T .11 = Cot| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos| 7 )
]
(A2 7 . 4 a
.1 =Tan| arcSin| _T .2 = Sin| arcTan| T .3 = Sin| arcCos ; t
h
-3 5 2
No3=| 4= Cot[arcSin(—D S= Tan[arcCos( LD 6= Cos(arcSin(—D . .| @
5 7 5 M
-5 -7 U
.7 = Sec| arcCos| E .8 = Csc| arcTan| ? .9 =Cos(arcTan(6)) T
L/
F ]
[ . 3 (3 4 (-5 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| = | + arcSin| — ¢
7 4 7 7
3 1 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| ~ R @
5 2
M
. 13n ([ 17= ) 2
.S =arcTan| Cos(2 m) + Sin| — 5 .6 = Csc| arcCos| Sin p + arcSin| Cos| — T Y
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.645108

C ]
3 1 a
.I =arcTan(-1) .2 =arcSin T .3 = arcSin ; ¢
2 i
Nol=| 4=arcSin(1) 5= arcCos[— T] .6=arcCos(0) || .|l @
M
3 2
7= arcTan[LJ .8 =arcSin(-5) 9= arcCos[LJ U
L 3 2 /] T
L -/ -
i 3 2 T[]
.1 = cos| arcCos T .2=Cos(arcTan(-1)) .3 =Tan| arcCos| T a
3 - t
.4 = Sin| arcCos| — .5 = arcSin| Sm .6 = arcCos| Sin| — Z h
NOZ = > s @
5 17w
.7 =arcSin| Sin| —— .8 =arcCos| Cos| ——— .9 =arcTan| Tan| — M
6 4 6 U
-1 . 10 . «/E T
.10 = Csc| arcCos ; .11 = Csc| arcSin| Cos .12 = ArcCos| Sin| ArcCos| — 7 ,
C ]
-2 ) 3 a
.1 =Tan| arcCos 7 .2 = Sin| arcCos T 3= Csc arcCos t
h
5 -7 5
No3=| 4= Sin(arcTan(— LD S= Cos[arcTan[—D 6= Sec[arcSin(— LD . .| @
5 9 M
(4 (-5 1 U
.7 = Cos| arcSin| = .8 = Tan| arcSin| — .9 =Cot| arcTan| —
L 7 7 6 T
L/ ]
]
i ) 1 (-4 4 (4 a
.1 = Sin| arcCos| |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 5 5 9
1 2 h
No4 = 3= Sin[Z arcSin(—D 4= cos[2 arcCos[—D , .| @
4 7
M
37 ) 1In ) 17n ) 5n
S= arcTan[Cos(—J + Slnl— D 6= Csc(arcCos( Sm(— D + arcSm(Cos(—jD U
L 2 2 6 3 i T
L/ ]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
0041]
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TrigonometryExercise5 for No.645109

C ]
I3 1 a
.1 = arcCos| T .2 =arcCos(3) .3 = arcCos| ; ¢
1 h
Nol=| 4= arcSin[EJ 5= arcTan(—«\/g) .6=arcCos(-1)|, .|l @
M
. 3 . U
.7 = arcSin| — 7 .§=arcTan(0) .9 =arcSin(1) T
L/ ]
I 3 2 3 1 [ M]
A= cos[arcCos[%]J 2= Tan[arcSin(— gj] 3= Sin[arcTan[— gn a
[ t
R n ] n
4= Cos[arcSln[—B S= arcCos(Cos(—D 6= arcSln(Cos[— J h
No2 = 2 6 4 > > @
o 17w b Sn
7= arcSln[ Sln[— D 8= arcCos(Cos(— —J 9= arcTan[Tan[— —D M
6 6 U
(17= . 1 T
.10 = Csc(arcTan(1)) .11 = Sec| arcCos| Sin p .12 = ArcCos| Sin| ArcCos E )
]
4 6 3 a
A= Cos(arcSin(7D 2= Cos[arcTan[— %D 3= Tan(arcCos(— g}] ¢
2 4 4 h
No3 =| .4=Cot| arcCos| — .5 =Sin| arcTan| — .6 = Sin| arcCos| ~ , .| @
5 5 5
M
(42 (2 7 U
.7 =Tan| arcSin| —— .8 = Sec| arcSin| ~ .9 =Csc| arcTan| —
L 5 3 4 i T
L -/ .
"]
I . 1 (3 3 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 5 7 2
5 3 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcCos| ~ , .| @
9 8
M
. on (13 = . 8
.5 =arcTan| Cos(8 1) + Sin| — 7 .6 = Csc| arcCos| Sin p + arcSin| Cos T U
L - T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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C ]
2 . 3 a
.1 =arcCos T .2 =arcSin(5) .3 =arcTan| —T ¢
h
3 3
Nol=| 4=arcSin(1) .5= arcSin(— £J 6= arcSin[Lj . .| @
2 2 M
-1 U
.7 = arcCos ; .8=arcTan(1) .9 =arcCos(-1) T
L ] M
-1 3 ] [ M ]
A= cos(arcCos[;D .2 = Cos( arcTan(—«\/;)) 3= Sin(arcCos{%D a
2 !
T S
4= Tan(arcCos[T ] S= arcCos(Cos[;D 6= arcCos(Sm[zD h
No2 = > s @
o T 4n Tn
.7 =arcSin| Sin| — —— .8 =arcCos| Cos| — .9=arcTan| Tan| - —— M
6 3 6 U
A2 _ 1371 _ 1 T
.10 = Csc| arcSin —T .11 =Tan| arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos E ,
Car]
2 . A2 , 2 a
.1 =Cos| arcTan 7 .2 = Sin| arcTan T .3 = Sin| arcCos| ? ¢
5 5 1 h
No3=| 4= Sec[arcCos{‘D 5= Csc(arcSin[—D 6= Cos[arcSin[—D , .| @
9 7 4 M
1 6 2
7= Cot(arcTan(—D 8= Tan(arcSin[— £D 9= Tan(arcCos[LD u
L 3 7 5 )/] T
(. ~/ -
C ]
[ ) 1 (-4 1 (1 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ |+ arcSin| ~ ¢
2 7 2 2
2 1 h
No4 = 3= Sin[Z arcSin[—D 4= 005(2 arcSin[—D , | @
7 2
M
(17n (5= ) b
.5 = arcTan| Cos(7 ) + Sin > .6 = Csc| arcCos| Sin| ? + arcSin| Cos _E U
L - T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.645111

Cur]
1 a
I =arcCos(-1) .2=arcCos E 3 =arcSin(0) ¢
-1 h
Nol =| .4= arcTan(ﬁ) JS= arcCos[;j .6=arcCos(-3) |, ,l @
M
2 2
7= arcSin(L] .§=arcTan(0) .9= arcSin[— Lj U
L 2 2 /] T
./ i

1 1 [Mm]
A= Sln[arcSln(;D 2= Tan(arcSin(— 2 D .3 =Sin(arcTan(1)) a
J3 n t
.4 =Cos| arcTan T .5 =arcTan| Tan| — .6 = arcCos| Sln h
NOZ = s @
13n b 11 T
.7 =arcSin| Sin[f ———— .8 =arcCos| Cos| —— .9 = arcTan| Tan M
6 4 6 U
. ﬁ ) Sm «/; T
.10 = Sec| arcSin T .11 = Cot| arcSin| Cos| .12 = ArcSin| Cos| ArcSin| —T ,
]
3 (45 1 a
.1 = Sec| arcTan g .2 = Cot| arcSin ? 3= Sln arcTan| ; ¢
(5 7 2 h
No3 =| .4 =Tan| arcSin| — .5 =Cos| arcTan 6= Sln arcCos| — , .| @
9 2 i/_ M
2 5 5
7= Cos[arcSin[—D 8= Csc(arcCos[—D 9= Tan(arcCos[— —D U
L 5 7 8 /] T
(. ~/ -
"]
[ ) 5 (5 1 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| ¢
8 7 2 2
4 5 h
No4 = 3= Sin[Z arcSin(—D 4= cos[Z arcCos(—D ., .| @
9 6 M
) on ) 1ln . 41
.5 =arcTan| Cos(8 m) + Sin| — T .6 = Csc| arcCos| Sin| — p + arcSin| Cos| T U
L - T
L/ ]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
0044]
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TrigonometryExercise5 for No.645112

o7a
_ . _ ;
1 =arcCos(-3) .2 = arcSin ; .3 =arcSin(-1) ¢
h
2 3
Nol =| . 4= arcCos(Lj 5= arcTan(«/;) 6= arcCos[—£] , .| @
2 2
M
.7=arcTan(0) .8= arcSin( J .9 =arcCos(1) l]{
L i M
ol 2 aeswral 2 s} ][
.1 =cos| arcCos| —— .2 =Sin| arcTan| —— .3 =Cos| arcSin| —
2 3 2 a
/3 !
. T (m
4= Tan(arcSm(— TD S= arcSm( Sln( gjj 6= arcCos( Sln(; J h
NOZ = > s @
. Sn 4n Sn
.7 =arcSin| Sinf — —— .8 =arcCos| Cos| — .9=arcTan| Tan| ——— M
6 3 6 U
«/; (1= «/5 T
.10 = Cot| arcCos| — 7 .11 = Sec| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin| T ,

- /;/
Ne—
~NCE®@s s~ 8 T

-7 2 5
wi :Cot(arcTan(?D 2= Sln(arcCos[ P 3= Tan[arcCos(gD
(1 2
No3 =| .4 =Tan| arcSin Z .5 = Cos| arcTan g

K 7= Csc[arcCos(%D 8= Sin[arcTan[— @D 9= Cos[arcSin(@D_

[ 1 3 1 4
A= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos[—J + arcSin[—D
2 4 3 7
. (2 (2
No4 = 3= Sm[2 arcSm[gD 4= cos[Z arcSm(gD
Tn . e ) 17n . b
S= arcTan(Cos(Tj + Sm(— TD 6= Sec[arcCos(Sm[— p D + arcSln(Cos[— ;Dj

~~NCSX®=~=8s K

T
L

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

b}

N R
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TrigonometryExercise5 for No.645113

C ]
a
3 2 2
A= arcSin[— L] 2= arcSin[iJ 3= arcCos(— £] !
2 2 2 h
Nol=| .4=arcSin(0) .5 =arcTan(0) 6= arcSin(«/;) , .| @
3 e M
.7 =arcTan| — T .8 =arcCos T .9 =arcCos(-1) U
T
!
I 3 1 [ M]
.1 = Tan| arcTan| —T .2=Cos(arcTan(1)) .3 = Tan| arcCos| 5 a
L3 b t
.4 = Sin(arcTan(-1)) .5 =arcTan| Tan| — .6 = arcCos| Sin Z h
NO2 = ' ‘ 7 n 5 TC > s @
.7 =arcSin| Sin| — .8 = arcCos| Cos| — .9=arcTan| Tan| — M
6 U
. ﬁ . -1 T
.10 = Csc| arcSin| T .11 = Tan| arcCos| Sin| — .12 = ArcSin| Cos| ArcSin| ; ,
z M_
. s . 3 a
.1 = Sin| arcCos _T .2 =Sin arcTan p .3 =Cos| arcSin| — 3 t
h
-5 4 2
No3=| 4= Csc(arcCos(—D S= Tan(arcCos(—D 6= Cos[arcTan[— —D ., .| @
7 f 7 M
-5 2 1
7= Tan[arcSin(—D 8= Cot[arcSin(—D 9= Sec arcTan| (—D u
7 7 2 T
L/ ]
F ]
[ . 3 (1 4 (-2 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
4 5 9 7
5 5 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| ~ , .| @
7 6
M
Sn ) on . Sn . Sn
.S =arcTan| Cos| — |+ Sin| - —— .6 = Cot| arcCos| Sin| —— | | + arcSin| Cos| — —— U
L 2 2 6 6 i T
L ! -
M
No5 = Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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o7a
a
/3 1 (-1 :
.1 =arcCos| ———— .2 =arcCos| ~ .3 =arcSin| —
2 2 2 h
Nol =| .4=arcSin(-1) .5 =arcCos(0) .6=arcTan(1l) || ,| @
2 M
.7 =arcCos(-5) 8= arcSin[gj 9= arcTan(~\/;) U
T
L/ ]
-1 2 1 [ M]
A= cos[arcCos[;D .2 =Cos( arcTan(—«\/? )) 3= Tan(arcCos{— gn a
ﬁ 27 T !
.4 = Sin| arcCos| — T .5 =arcCos| Cos T .6 = arcCos| Sin| g h
N02 = > 5 @
o 177 Sn 17n
.7 = arcSin| Sin| — .8 =arcCos| Cos| ———— .9 = arcTan| Tan M
6 6 6 U
3 | 27 . (1 T
.10 = Csc| arcCos T .11 = Cot| arcSin| Cos| —T .12 = ArcSin| Cos| ArcSin| E ,
C ]
J7 7 (=5 a
.1 = Sec| arcTan —T .2 =Cos| arcTan g .3 = Cos| arcSin| g ¢
h
-1 5 4
No3=| 4= Sin(arcCos(—D 5= Cot(arcCos[— £D 6= Tan(arcCos(—D , .| @
4 «/_9 7 M
1 2 -1
7= Csc[arcSin(—D 8= Tan[arcSin[—jJ 9= Sin(arcTan(—D u
3 5 6//] T
L/ ]
o7a
[ ) 2 (1 1 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ¢
3 4 2 2
4 3 h
No4 = 3= Sin[2 arcCos[—D 4= 005(2 arcCos(—D , .| @
9 4
M
9n [ T= ) S5n ) 13n
.5 =arcTan| Cos| — |+ Sin| — .6 = Sec| arcCos| Sin| —— | | + arcSin| Cos| U
L 2 2 6 3 i T
./ i

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

b}

No T NCGKR
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TrigonometryExercise5 for No.645115

= arcSin[

£

Nol =

.7 =arcSin(1) .8 =arcSin(2)

+-tufamcof )

.1 =Tan(arcTan(1))

3
4= Sin(arcTan(— QD 5= arcSm(Sm[ D
17 = 11=
7= arcSin(Sin[— TD 8= arcCos(Cos( D
|2
.10 = Sec| arcCos| T .11 = Sec| arcSin| Cos|

i 5
= Sec( arcTan[gD

No2 =

4
2= Csc(arcCos(—

No3 =

i 5 -1
A= Sin(arcCos[—j + arcSin[—D
6 5
. (1
3= Sln[2 arcSm(ZD

No4 =

No5 =Sin(2 arcCos(a)),

No6 = Cos(2 arcCos(a.)),

[Page = 0048]

L

2= arcCos(—
2

’\/E -1 > b
4= arcTan(«/;) .5 =arcCos| — T .6 = arcSin| 3

4=

on
JS= arcTan(Cos(Q )+ Sin(TD 6= Csc(arcCos(Sin[—

C ]
a
.3 =arcTan(-1) !
h
@
M
.9 =arcCos(-1) U
T
!

3= Cos(arcSin(
6= arcSm[Co (

17
9= arcTan(Tan[ p

|>—lN

) e

D 3= Sin(arcCo (—1})
9 2
.4 =Cos(arcTan(-6)) .5 =Tan| arcCos —T .6 = Cot| arcSin| —

9
7= Tan[arcSin(@D .8 = Sin( arcTan(«/; )) 9= Cos(arcSin(iD

1 5
2= Cos(arcCos[—J + arcSin(—D
3 8

1
cos[Z arcCos(gD
1

37

b}

b}

No T NCGKXR

5.

)
")

)

JJeansilcod 5]

'°|§I
N—
~—
;/

~NCE® ~5 K

~NQX®=~28 ¥
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TrigonometryExercise5 for No.645116

I 3
A= arcSin[TJ .2=arcCos(2)

-1 3
4= arcCos(;] S= arcSin(— g

2
7= arcCos[gj .8 =arcTan(0)

-

Nol =

.1 =Tan(arcTan(1))

Car]
a
.3 =arcCos(1) ¢
h
] .6=arcSin(-1) |, .| @
M
U
.9 =arcTan(-1
( )_ T
./ i

sl )
2)

2
ol 2] sl -3 s
.4 =Tan| arcCos| — —— .5 = arcSin| Sin| — — .6 = arcCos| Sin|
_ 2 3 3
N02 = >
. (17= 11n 137
.7 = arcSin| Sin| p .8 = arcCos| Cos 3 .9 =arcTan| Tan| p
) T . 1
.10 = Cot( arcTan(—«\/g)) Al = Csc(arcSm(Cos(— ;DJ A2 = ArcCos(Sm(ArcCos(EjD
"
(1 3 s a
.1 = Tan| arcSin Z .2 =Cot| arcCos ? .3 = Sec| arcSin| —T ¢
5 1 1 h
No3=| 4= Tan(arcCos[—D 5= Sin[arcCos(—D 6= Csc(arcTan(—D , .| @
8 2 7 M
3 1
.7 = Sin( arcTan(—«/? ) 8= Cos[arcSin(;D 9= Cos[arcTan[ZD (]{
L / .
I 1 1 3 -3
A= Sin[arcCos(—j + arcSinE—D 2= Cos(arcCos(—j + arcSin(—D
2 6 5 8
2 1
No4 = 3= Sin(2 arcSin(gD 4= 005(2 arcSin(EjJ 5
Tn . 9n ) 11r . 4n
.S =arcTan| Cos| — |+ Sin| — —— .6 = Sec| arcCos| Sin| — + arcSin| Cos| —/—
L 2 2 6 3 i
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
[Page = 0049]

~~NCX®s-~28 K

~NQRKO®s~=8 K

):0.0:0:0:0.0.0.0:9:9.0.0.0:0:9:9,0.0.0:0:9.0.0.0:0:9.0,0.0.0:0.0.0.0.0:0.:9:9,0.0.0:0.0.0.0.0:0.9,0.0.0.0:9:9.0.0.0:0.9.0.0.0.0:9.9.0.0.0:0.:9.0,0.0.0:0.0.0.0.0:0.:9.0,0.0.0.0.0.0.¢



):9:9:0:9:9:0.9:9.9.9:9.9.:0:9.9.9.9.9:0:9.9:9.9.0.:9.9:0.0.0:9:9,9.0.0:0.0.9:9.0.0:0.9.9.0.0:0.9.9.9.0.0:0.9,9.0.0.:0.9.9.0.0.0:0.9.9.0.0.0.9.9.0.0.0.:9.9.0.0.0.:0.9.9.0.0.0.:0.9:0.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.0.0.4

p:QRVENAICIVISHNND:0:0:0:0:0:0:0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:9.0.0:0:0.0.0:0: U YNV T ITUS T Jo[01510):0:¢
TrigonometryExercise5 for No.645117

Cu]
3 a
1 =arcSin(1) 2= arcTan(ﬂ/;) 3= arcSin[%} ¢
h
2 3
Nol =| 4= arcCos(— LJ 5= arcSm[— LJ .6=arcTan(1) |, .| @
2 M
2 : U
.7 =arcCos(-1) .8 = arcCos T .9 =arcSin(-2) T
!

b.)

Ne—
N—
1
|

P ) T 4 R A

.4 =Cos(arcTan(-1)) S= arcTan(Tan( J 6= arcSm(Co

3
. Tn b
7= arcSln(Sln(— ?D 8= arcCos(Cos( ;D 9= arcTan(Tan[

;,w

No2 =

6

ﬁ

N——

N—
~NQOXK®s-~= K

-1 K -1
0= Csc[arcCos(zD Al = Csc[arcSin(Cos( )D 2= ArcSin[Cos(ArcSin(;]D
e
i ) 1 , 2 i a
A= Sm[arcTan[;D 2= Sln[arcCos(;D .3 =Cos( arcTan(—«/; )) ‘
1 3 -3 h
No3=| 4= Cot(arcSin(—jj 5= Tan(arcCo ( D 6= Csc(arcTan(—Jj , .| @
6 5 7
M
.7 =Cos| arcSin| ———— .8 = Tan| arcSin| — .9 = Sec| arcCos| —
L 5 8 6/) | T
L -/ .
Cur]
[ ) 1 (1 1 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 5 3 2
2 1 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| ~ , .| @
5 2
M
Tn (Tn (17= . 4n
.5 =arcTan| Cos| — |+ Sin| —— .6 = Cot| arcCos| Sin + arcSin| Cos| —/— U
L 2 2 6 3 i T
./ .

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b}

NQE NQE
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TrigonometryExercise5 for No.645118

No2 =

No4 =

[Page =

Nol =

_,1 = cos{arcco{‘ ?D
4= COS(afCSin(_ TD
7= arcSin( Sin(‘ 5_;)]

(9%}

No3 =

1
3= Sin[2 arcCos[ED

0051]

JS= arcTan(Cos( 10 ) + Sin(—

C ]
3 1 a
.1 = arcTan| T .2=arcTan(-1) .3 = arcSin E ¢
h
-1 3
4= arcSin(—] 5= arcCos[L] .6=arcSin(1) |, , @
2 2 M
2 . U
.7=arcCos(0) .8=arcCos| — T .9 = arcSin(-7) T
!

.10 = Sec(arcTan(1)) Al = Tan(arcCos(Sin(

A= Sec(arcSin[%/j_J
4= Tan(arcCos(— %D 5= Cos(amsm@
7= Tan[arcSin(— TD 8= Sin(arcCos[%D

[ 1 -5
A= Sin[arcCos(—j + arcSin[—D
3 9

-
)

=)
6= arcCOS(Sin(_ %D ,
3 n D 9= arcTan[Tan[_ - ﬁj)

116 nm 2= ArcCoS(Sin(ArCCOS(@D

2= Sin(arcTan(%D 3= Cos(arcTan(— @D
e ) |
i~

|a

b= arcTan[Tan[
1

S A

8= arcCos[Cos(

(o)}

L

[}

~~NCX®= -8 K

T
L

3 5 i
2= Cos(arcCos[—J + arcSin[—D
7 7
(3
4= 005(2 arcSm(gD
13x 1= 2n
) D 6= Sec(arcCos(Sin(— TD + arcSin[Cos{— TD]

No5 =Sin(2 arcCos(a)),

b

No6 = Cos(2 arcCos(a.)),

b}
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TrigonometryExercise5 for No.645119

M

3 2 a

.1 = arcTan| T .2 =arcCos _T .3 =arcTan(-1) ¢

3 !

Nol=| 4 =arcSin(1) 5= arcSin[— Tj .6=arcCos(-1) || .| @
M

1 2

.7 =arcSin(7) 8= arcSin[—J 9= arcCos[LJ U

L 2 2 /] T

!

2 1 1
A= cos[arcCos[— g]) 2= Tan(arcCos[E 3= Cos(arcTan(— D

Sn
.4 =Sin(arcTan(1)) S= arcCos(Cos(—D 0= arcSin(Cos[

-

No2 =

o |a
a ~—

~NCX® >~ X

. (Tm b 13 S
7= arcSln(Sln[?D 8= arcCos(Cos( TJJ 9= arcTan(Tan[— p D
. 87 . ) «/5
.10 =Csc(arcTan(-1)) .11 =Cot| arcSin| Cos T .12 = ArcSin| Cos| ArcSin| T
e
-1 7 J6 a
.1 =Cot| arcTan| 5 .2 = Sin| arcTan| E .3 =Cos| arcTan| _T ¢
3 -4 -5 h
No3=| 4= Cos(arc& (—D 5= Tan(arc& [—D 6= Tan[arcCos(—D , | @
5 7 8
s )] ool 2] modued) | |2
.7 =Sec| arcSin| —— .8 = Sin| arcCos| ——— .9 = Csc| arcCos| —
L 3 7 8 T
L/ ]
Cur]
[ . 5 (3 3 (- i a
.1 = Sin| arcCos| — |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
9 8 8 8
5 1 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| ~ , .| @
7 2
M
) on ([ 17= . b
= arcTan(Cos(Z T)+ Sln[— TD 6= Csc(arcCos[Sm[ p D + arcSm(Cos(— EDJ U
L - T
L -/ .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.645120

Cur]
1 1 a
.I =arcTan(1) .2 =arcCos 5 .3 =arcCos(0) P
/3 h
Nol =| 4= arcTan(—«\/?) .5 = arcSin T .6=arcSin(-1) |, ,| @
M
A -1 U
.7 =arcSin| ——_— .8 =arcCos(-7) .9=arcCos|
L 2 2 /] T
(. -/ -
[ 2 3 3 1 [M]
A= Sin(arcSin(£j] 2= Tan(arcSin(£J] 3= Sin(arcCos(— LD
2 2 2 a
2 t
. . LT | m
4= Cos(arcSm[— TD S= arcSm[Sm(zD 6= arcCosESm(g j h
N02 = > 5 @
. Tn 107 1=
.7 =arcSin| Sinf — —— .8 = arcCos| Cos .9 =arcTan| Tan| M
6 3 6 U
(1 o 1= _ s T
.10 = Cot| arcSin 5 .11 = Sec| arcCos| Sin| — p .12 = ArcSin| Cos| ArcSin —T ,
]
(-1 . -1 [ A2 a
.1 =Tan| arcSin| Z .2 = Sin| arcTan| ? .3 = Csc| arcSin| —T ¢
3 5 5 h
No3=| 4= Sec[arcCos(—D 5= Cot(arcTan(— ] 6= Cos(arcSin[—D , .| @
7 6 6 M
J2 1
.7=Cos( arcTan(ﬁ)) 8= Tan[arcCos(— TD 9= Sin[arcCos(gD IT]
L J M
C ]
[ . 4 (-2 1 (2 i a
.1 =Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ~ ¢
5 7 6 3
2 1 h
No4 = 3= Sin[2 arcCos[—D 4= 005[2 arcCos[—D , .| @
5 6 M
. . 17n ) 57
S =arcTan(Cos(w) + Sin(-2 w)) .6 = Sec| arcCos| Sin| — p + arcSin| Cos| — ? U
L - T
./ a

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

b}

NCo T NCKXR
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TrigonometryExercise5 for No.645121

X

C ]
_ NS ;
1 =arcCos(-1) .2=arcTan(0) .3 =arcCos ; '
2 !
Nol =| .4=arcSin(1) 5= arcSin(— Tj 6= arcSin(«/;) , .| @
M
3 3 1
7= arcTan(— £J 8= arcSin[£] 9= arcCos(—J U
| 3 2 2) | T
L -/ -
=il | ( ) sl 3) M
.1 = Sin| arcSin| —— .2 =Tan| arcCos| —— .3 = Cos| arcSin| —
2 2 2 a
2 T 27 !
.4 = Sin| arcCos| T =arcTan| Tan| — .6 = arcSin| Cos T h
NOZ = > s @
o 137 4 Tn
.7 = arcSin| Sin| — =arcCos| Cos| — .9 =arcTan| Tan| ——— M
6 3 6 U
e . 2 r
.10 = Csc| arcSin| — 7 .11 = Tan| arcSin| Cos| — .12 = ArcSin| Cos| ArcSin| — 7 ,
]
i -1 4 1)) ] a
= Sin(arcCosL;D 2= Cos(arcTa (gj] 3= Tan[arcSin(ZD ‘
/5 3 (46 h
No3 =|.4 = Cot| arcCos —? .5 = Sec| arcTan : .6 = Cos| arcSin| —1 , .| @
1 4 J5 M
5
7= Tan[arcCos(—D 8= Csc(arcSin[—D 9= Sin(arcTan(— —D U
3 7 6 //] T
L/ ]
"]
i ) 1 (1 2 (-1 a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 2 5 2
1 5 h
No4 = 3= Sin[2 arcSin[—D 4= cos[Z arcSin(—D R @
5 8 M
Tn . 5w (13 = . 107
S= arcTan[Cos{TJ + Slnl— TD 6= Cot(arcCosESm( D + arcSm(Cos( Dj U
L - T
L/ ]
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.645122

Nol=| 4=arcTan(0)

-1
7= arcSin[—
2

.Icos(mco{?j

2 3
A= arcCos[— g] 2= arcSin(%J .3 =arcSin(1)
S =arcCos(0) .6= arcCos[

J 8= arcTan(—«\/g) .9 =arcSin(-2)

.2 = Sin( arcTan(«/; ))

=)

/T%'I'\ﬂqt®w~a§:

Q ~— _—
~—

.3 =Tan| arcSin

2
b b
4= Cos(arcSin 5= arcSin(SinL—D 6= arcSin(CosE—J
No2 = 6 4
a 137 RE)s 17
7= arcSin(Sin(— D 8= arcCos(Cos(— Tjj 9= arcTan(Tan(— p D
3 ( lix . (A2
.10 = Cot| arcTan| _T .11 = Tan| arcCos| Sin| — p .12 = ArcSin| Cos| ArcSin —T
[ M
| (2 . ) a
.1 =Cos( arcTan(ﬂ/g)) .2 =Cos| arcSin| ; .3 = Sin| arcCos g ¢
h
5 -2 3
No3=| 4= Csc(arcSin(iJ] 5= Sec(arcTan(—D 6= Tan(arcCos(LD , .| @
6 7 7 M
-4 ) 7 (-5 U
.7 =Cot| arcCos| — .8 =Sin| arcTan| ~ .9 = Tan| arcSin| —
L 5 3 9 J T
L/
[ 2 1 2 -4
= Sin(arcCos(—J + arcSin(—D 2= Cos(arcCos(—] + arcSinL—D
5 5 3 5
5 4
No4 = 3= Sin[Z arcCos(gD 4= 005(2 arcCos[;D N
[S5m . Sn ) K
S= arcTan[Cos(9 )+ Sln[TD 6= Cot(arcCos[Sm(— ?D + arcSln[Cos[TDj
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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]
_ . _ ;
1 = arcSin 5 .2 =arcCos(-7) .3 =arcTan(1) ¢
B A2 h
Nol = =arcSin| — S=arcCos| ———— | .6=arcTan(0)|, ,|l @
2 2
M
/3 . U
.7 = arcCos| T .8 =arcCos(0) .9 =arcSin(1) T
) _ L/
e LY 1M
.1 = Sin| arcSin —T .2 =Tan| arcCos 2 .3 = Cos| arcSin 7 a
-1 T 3n !
.4 = Sin| arcCos| ? =arcTan| Tan| — .6 = arcSin| Cos| T h
N02 = > 5 @
A Tn
.7 =arcSin| Sinf —— .8 = arcCos| Cos .9 =arcTan| Tan| — M
6 6 U
3 ‘ /3 r
.10 = Csc| arcCos T .11 = Cot| arcCos| Sin| — .12 = ArcSin| Cos| ArcSin 7 )
F ]
(-1 6 a
.1 =Tan| arcSin| ? .2 =Tan| arcCos 2 3= Cot arcCos 9 ¢
4 2 (4 h
No3 =| .4=Sec| arcTan| — .5 =Sin| arcCos| — .6 = Cos| arcSin| — , | @
3 3 9 M
-1 2 5
7= Cos[arcTan(—D 8= Csc(arcSin(— £D 9= Sin[arcTan(LD u
L 6 7 2 )] T
L/
Fur]
[ , 1 (5 4 (-1 a
.1 =Sin| arcCos| T |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
3 7 7 2
1 1 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| — , .| @
4 4
M
. 137 ) 137 ) 7n
S= arcTan(Cos( 10m)+ Sm(— TD 6= Sec[arcCos(Sm[— p D + arcSln[Cos[TDj U
L g T
./ .

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQE NQE
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o7a
a
J2 1 ,
.1 =arcCos| — 5 .2=arcTan(1) .3 =arcCos 5 )
Nol=| 4= arcTan(—«\/g) JS=arcSin(-1) 6= arcCos(—«/;) , | @
(A2 (A3 M
.7 =arcCos(0) .8 = arcSin| T .9 = arcSin _T U
T
(. -/ -
I S E) . 2 IEd
.1 = Sin| arcSin| — 7 .2=Cos arcSm 2 .3 =Tan| arcCos| 2 a
I I !
.4 =Sin(arcTan(1)) = arcSin| Sin| — .6 = arcSin| Cos| — h
No2 = 3 6 @
- . Il 137 S
.7 = arcSin| Sin| — = arcCos| Cos| —//— .9 =arcTan| Tan| — M
6 6 U
T
!

-1 b
0= Sec(arcCosE;D Al = Cot[arcSin(Cos{ 3 Dj 2= ArcCos(Sin[ArcCos -

_ A= Sin(arcTan(iD 2= Sin[arcCos( " D 3= Cos[arcSin@] |
sarroents) senfut]) o ol )]
E 7= Tan[arcSin(?D 8= Cot(arcSin(— TD 9= Sec(arcCos(?D |

S
N—
N—
I\_/

~~NQSX®=-~8K

M
2 5 4 1 a
.1 =Sin| arcCos| = |+ arcSin| — .2 =Cos| arcCos| = | + arcSin| — ¢
3 9 7 2
3 3 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcCos| = , .| @
4 7
M
(13=m . 177w . Sn
.5 =arcTan| Cos(5 m) + Sin 5 .6 = Csc| arcCos| Sin| — p + arcSin| Cos T Y
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U

T
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3 ]
.l =arcCos(0) .2 =arcCos T 3= arcSm(«/?)
3 2
Nol=| 4= arcTan(gJ S =arcTan(-1) .6= arcSin(— g} b

-1 1
7= arcCos(;] 8= arcSin[Ej .9 =arcSin(-1)

A= cos[arcCos(;l]J 2= Sin(arcTan[— @D .3 = Cos( arcTan(ﬂ/g ))

3 T
4= Tan(arcSm[—D S= arcSm(SmL—D 6= arcSm[Cos(—D
4 4
No2 = L,
. 4n T
.7 = arcSin| Sin| — p .8 = arcCos| Cos T .9 =arcTan| Tan| ?

I A0= Sec[arcSin(@D Al = Sec(arcSin(Cos(— S?DJ 2= ArcCos(Sin(ArcCos(— @DJ_
_.I = Tan(arcCos{ﬁJJ 2= Cos(arcTan(éjj 3= Sln(arcTan[fD

[ M

a

t

h

3 3

No3=| 4= Cos£ar081 ( D S= Sm(arcCo L—D 6= Sec(arcTan(_ LD , | @
5 M

U

T

/

-\ﬂQ§®§-Q§:

a

~NQEX®>~28 K

| 7= Tan[arcSln( j) 8= Csc(arcCos[zsj .9—Cot[arcSin(—@jJ_

M
i ) 1 (1 5 (3 a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
6 6 6 8
4 5 .
No4 = 3= Sin[Z arcSin(—D 4= 005(2 arcSin[—D , .| @
9 6 M
. 137 (13®m . 8
JS= arcTan(Cos( 10 ) + Sm(— 5 D 6= Sec(arcCos(Sm( p D + arcSm[Cos{TDj U
L . T
(. ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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&3:

-1
A= arcSin[;j 2= arcSin(—«\/E) .3 =arcCos(0)

t
h
NO] = 3 1 2 > i
4= arcCos(— LJ S= arcSin[—J 6= arcCos[Lj %
2 2 2

U

T

/

.7 =arcSin(-1) .8 =arcTan(-1) .9 =arcTan(0)

1 1
A= Sin[arcSin(ED 2= Tan(arcCos[ED 3= Cos[arcTan[— T

I I
.4 =Sin(arcTan(-1)) = arcTan(Tan(—D 6= arcCos( Sin(z
. 177 b
.7 = arcSin| Sin| — T .8 = arcCos| Cos _E .9 =arcTan| Tan| ?
3 . 3n . (43
.10 = Cot| arcCos| T .11 = Sec| arcSin| Cos| — T .12 = ArcSin| Cos| ArcSin| — T

W
N—
N—

|
1
|

No2 =

~
\:/\_/
Ne———
~NCOX®@ >~ X

Ne—

]
NE A5 | 5 a
.1 =Tan| arcSin ; .2 = Cos| arcSin —T .3 = Sin| arcCos| E ¢
h
5 -7 7
No3=| 4= Sec(arcCos - J 5= Sin(arcTan(—D 6= Cot(arcTan(— LD , | @
8 4 3 M
J5 3 (-1 U
.7 =Tan| arcCos| —— .8 =Cos| arcTan| = .9 = Csc| arcSin| —
L 8 7 4 T
L -/ .
e
[ ) 2 (1 1 (-2 i a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 = Cos| arcCos| ~ | + arcSin| — ¢
7 5 4 3
1 3 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcSin| — , .| @
2 4
M
. [(Sm . 4n
.5 =arcTan(Cos(5 n) + Sin(-3 ®)) .6 = Csc| arcCos| Sin ? + arcSin| Cos| T U
L - T
L -/ -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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C ]
3 a
1 =arcSin(1) .2 =arcCos| — T .3 =arcCos(0) ¢
h
2 3 1
Nol=| 4= arcSin(Lj RES arcTan(Lj 6= arcCos{‘j , .| @
2 3 2 M
2
7= arcCos(—«\/?) 8= arcSin[— Tj .9 =arcTan(0) LZ{
L i M
- . | _ "]
A= cos[arcCos( 5 D .2 = Cos( arcTan(«/g)) .3 =Sin(arcTan(-1)) u
i . 3n t
.4 =Tan| arcCos| — .5 =arcCos| Cos| — .6 = arcSin| Cos| — h
No2 = 2 6 @
- (. [ 1Tm 3n 11 n S
.7 = arcSin| Sin| — p = arcCos| Cos| — .9 =arcTan| Tan| — M
U
(43 A 1 T
.10 = Csc| arcSin T .11 = Cot| arcCos| Sin —T .12 = ArcCos| Sin| ArcCos - ,
]
2 (43 (3 a
.1 =Cos| arcTan| _T .2 = Sec| arcSin T .3 = Cos| arcSin Z ¢
h
-4 1 7
No3=| 4= Cot[arcCos(—D = Sln[arcTan[ D 6= Tan[arcCos(LD , | @
5 4 9 M
. 4 3 5 U
.7 = Sin| arcCos| = .8 = Tan| arcSin| = .9 =Csc| arcTan| =
7 5 7)) ] T
L -/ .
F ]
i ) 5 (-5 2 (1 a
.1 = Sin| arcCos| — |+ arcSin| — .2 = Cos| arcCos| ~ | + arcSin| — ¢
9 9 7 5
2 4 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcSin| — , .| @
3 9
M
) Sn ([ T= ) Tn
S= arcTan[Cos(Z )+ Sln[— TD 6= Csc(arcCos[Sm(?D + arcSln[Cos[TDj U
L - T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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C ]
/3 a
1 =arcCos(1) .2=arcTan(0) .3 =arcTan| — T ¢
h
2 3
Nol=| . 4=arcSin(0) 5= arcCos(— g] 6= arcCos[{] , .| @
5 2| v
.7 =arcSin| ——— .8 =arcSin(7) .9 = arcSin
L 2 2 ) ] T
L -/ -
[ 1 3 1 [M]
A= Cos(arcCOSLED .2 =Sin( arcTan(—«\/_ 3)) 3= Cos[arcSin(gn a
3 !
i . T
4= Tan(arcCo [TD = arcTan[Tan[ p D 6= arcCosLSm(— gjj h
NO2 = > s @
(. (13m 2n 177
.7 = arcSin| Sin| =arcCos| Cos| ———— .9 =arcTan| Tan M
3 6 U
1 117 . J2 T
.10 = Cot| arcSin E .11 = Sec| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos| T ,
F ]
, 3 . 3 ﬁ a
.1 = Sin| arcCos| g .2 = Sin| arcTan| g .3 = Tan| arcCos ¢
h
-3 2
No3=| 4= Cot(arcCosE—j] 5= Cos[arcSin(£ j 6= Tan(arcSl ( jj , .| @
8 7 M
-3 7
7= Sec(arcSin[;D 8= Csc[arcTan[g j 9= Cos(arcTan( D (T]
L M
]
o« ! (3 1 (4 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| 7 | + arcSin| — ¢
2 7 3 7
4 4 h
No4 = 3= Sin[Z arcCos(—D 4= cos[2 arcCos[—D , .| @
5 9 M
. . 17n ) 5n
.S =arcTan(Cos(3 n) + Sin(-3 w)) .6 = Csc| arcCos| Sin| _T + arcSin| Cos T U
L - T
L/ ]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U

T
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C ]
3 a
.1 = arcSin T .2 =arcSin(1) 3 =arcSin(7) ¢
2 !
Nol =| 4=arcTan(0) .5= arcTan(«/;) 6= arcCos[T] , .| @
M
-1 3
.7=arcCos(-1) .8= arcCos[—j 9= arcSin[— £J u
L 2 2 /] T
L/ ]
i -1 1 1 [ M]
.1 = Sin| arcSin ; .2 =Sin(arcTan(-1)) .3 = Tan| arcCos| E a
b T !
.4 =Cos(arcTan(1)) .5 =arcTan| Tan .6 = arcCos| Sin| g h
No2 = o (1= 11 T Tn - .| @
.7 = arcSin| Sin p .8 = arcCos| Cos| .9 = arcTan| Tan| ? M
U
2 . . (A3 r
.10 = Cot| arcCos —T .11 =Tan| arcCos| Sin .12 = ArcSin| Cos| ArcSin| 7 .
Fa]
(3 A5 (1 a
.1 = Cos| arcSin 7 .2 = Tan| arcSin _T .3 = Sec| arcSin g ¢
h
. 7 -4
No3 =|.4 = Sin( arcTan(«/g ) 5= Csc[arcTa [?D 6= Tan(arcCos[;D , .| @
M
, 2 3 U
.7 =Cos(arcTan(5)) .8 = Sin| arcCos| g .9 = Cot| arcCos T T
L /]
C ]
i ) 3 (-1 1 (1 i a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
7 6 2 3
3 1 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcCos| = , .| @
8 5
M
. 3w ) 11z ) 4n
.5 = arcTan| Cos(m) + Sin| —T .6 = Sec| arcCos| Sin| — p + arcSin| Cos T U
L - T
L / .
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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C ]
el /5 NE
.1 = arcSin| — 7 .2 = arcCos| T .3 =arcCos(0) t
-1 h
Nol=| 4= arcCos(—J S=arcTan(0) .6=arcCos(-3) @
12 M
7= arcSin(Ej 8= arcTan(«/;) 9 =arcSin(1) U
L n T
e
=2 a2 weelt) ][4
.1 =Sin| arcSin| — —— .2 =Sin| arcTan| —— .3 =Tan| arcCos| ~
2 3 2 a
/3 !
. T ) 7
4= Cos[arcSln( 5 ] S= arcSln(Sm( ;D 6= arcSln(CosE; J h
N02 = s @
. 137 I1n 5n
.7 = arcSin| Sin| — .8 = arcCos| Cos .9=arcTan| Tan| — M
6 3 6 U
«/; . 117 ﬁ T
.10 = Sec| arcCos| T .11 = Cscl| arcCos| Sin| — p .12 = ArcCos| Sin| ArcCos —T ,
F ]
, 1 A5 s a
.1 = Sin| arcCos 5 .2=Cos| arcTan| —— 2 .3 = Cot| arcCos S ¢
h
(43 5 3
No3 =| 4= Tan| arcSin| —— .5 = Sec| arcTan| — .6 =Tan| arcCos| — , .| @
4 2 5 M
. -1 -5 (1 U
.7 =Sin| arcTan| — .8 = Csc| arcSin| — .9 = Cos| arcSin| —
L 4 7 4)) | T
(S ~/ -
o7a
[ ) 2 (4 1 (-4 a
.1 =Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 7 2 7
3 4 h
No4 = 3= Sin[Z arcSin(—D 4= cos[Z arcCos(—D ., L @
5 7 M
. (5m ) 10m
S=arcTan(Cos(3 n) + Sin(4m)) .6= Cot[arcCos(Sm[7D + arcSm(Cos( 3 Dj U
L - T
L/ ]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
0063]
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